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1

1. ‘AEAIGSr eE B e T ?
What is the meaning of the word
‘Mohenjo-daro’?
(A) THEIaT 98T/ Favourite city
(B) S i & $/Mount of the dead
(C) & &I STTE/Place of living
(D) & ISR &1/ A market area
[UPSSSC 3T faam= 3iferamy
(A= I ) 9RYe (W uTelt)
e fafer :23-12-2018)
1. (B) ArETlIGS] 1 D! B CIell (ATST
AE T ) W FHaT I &1 S B
5 ArEToiGS] o S8l BT Jear
ST el Sl
2. g o1 AR F IR A T | DT
FAT T § ?

Which of these statements is true about

the Indus Valley Civilization?

(A) RIg AN U &1 SET S el
Y&l 9/The Indus people were the
first to produce cotton

(B) S=oM AHE B IR | IS HeIRd
f&a1/They stored food grains in
wooden boxes.

() g =i wwar Yo, Ry,
T, ok, ORI 3R
IREH A B FY AT P B
A B/Indus valley civilization

covered parts of Punjab, Sindh,
Baluchistan, Gujarat, Rajasthan

and West Bengal
(D) Rig & g, Rfeerl ik S o1 5
Y™ W et 91/ The Indus people

domesticated dogs, cats and horses
in large scale

[UPSSSC I fasrt Siferamy

(AT =) gy (Y uTelt)

e fafdr : 23-12-2018]

2. (A) g =TS AW & AN HUH ST

H wduerm o | 3HfTT AT T 30
R wed I |

3. BSW AR & VS o, Alere] I garg

P @S o @ o ?

sfiera

Who discovered the excavated site
of Lothal, a part of the Harappan

Civilisation?
(A) ST 39 ATE/Daya Ram Sahani
(B) YgeERT g5t/ Rakhal Das Bannerji
(C) THIIR 1@/SR Rao
(D) 3IRTH fdwe/RS Bist
[UPSSSC U™ faera rferemt
(A= =g aR¥en (T arer)
e fafdr : 22-12-2018]
3. (C) TS99 & el Dl Tl 1
M@ T 1955 9 1962 | ORI &
IR Tl § &Y, Sefh SaRE
el §RT BSWT R, JTEEIaN
gl ERT AEoiiesl R &R, U9
faE gR1 sl iR iR
et & T

4. TIUIHIA BT $TH F DT TR A A
# fawiforg em?
Which of the following Harappan cities
was divided into three parts ?
(A) @lrere/Lothal
(B) Hr&T SEs1/Mohenjodaro
(C) PrefieT/Kalibanga
(D) €remdRT/Dholavira
[UPSSSC FHRIEX IATIR Helt gRie
e Y : 10-1-2020]
4. (D) AEERT ORI ¥ WV YA B
S fT9m @SR § Red e
Vi were ¥ I UTa R ATl
Tgal fava &1 I8 Y HER ol
BT [T B YRR § T A
FE D BY H ST dTel GRI
AdIRT ‘Hes & X0’ B w9y Rerd
B9 TR H R T ISA &I & 9
& gafa'—ex Red &1 demart
M WER EU' D FN— gfREH
AT IR 1 B | SeTaIRT YRR B
QaTs ¥ fiet arael &1 TR AeR
g HAFER TS A B S A gan
o | STATIRT AT ESHTS TRBH aTe]
T TR &I Ao TR IGYS &
w0 | & TR N3 TR Bl s
Y F IREH BT R TR B AR
TP TP Aolgd AR b A0 &

gus—I : 9 eI

YT=IF MR 6l Shierd

(History of Ancient India)

ey el ¥1 TR B HeUNE drel
9 B SR ¥ U fawga weqof v
AP T Fa D 39y et & |
TP SR TR BT HEIH AT S Oy
D G D T AN 5D g A
TR BT AT Fewaqul 9rT Rerd ©
Ry et erer’ a7 fhx 319 TR
& ST & |

. Fr=faRea & & oF-a1 Ry =18 61

R A e werel T8 ?

Which of the following is not an Indus
Valley Civilization Site ?

(A) BTE/ Kalibangan
(B) J9E/ Ropar

(C) Urefrgal/ Patliputra
(D) @hera/ Lothal

[UPSSSC T[fRR Soiif-raz/daa=iran
Wil gRAem 27-12-2015]

. (C) Ao | 9T aRIY gASA |,

T, HIS B TG, G B g |
AT | YT TRIT—1T B FHarsl,
AT Heplel B AT Gl | Pretle—
T g WA, MfgS e Ry geer
| U g © a1 Uefergd § qad
g TN ARG B T o | e
segel ANTTgS 9 S 6 e
37eiTep 3 R o |

. TP & R ol H Rig =41 & e

TR e Rig 7<= RIS BT T T
R T & & @ |1 &7
(A) AIETSIE] (B) &=
(C) e (D) STERFTIRYY
[STR Yo gfer™ uien oie a1,
HRIRHA G SaN (37ReN)
(fa<ha arelY) 19.12.2020]

. (A) WIETGiIES] @ @gare 99 1921 #

TR 91l )T $RaTs T & |
e’ |8 g a1 o fhR 941 gai
Bl

. iy 9w 9 9 & omiReri &1 eraRy

wel fre?
(A) SATA (B) agas
(C) g@NTeR (D) gRPIeaT

UPSSSC I&IIaR U PET UIGAhHATIAR | 1



7. (D) P (TORT) 3 8IS BI ARl
® e FAYLH o, G, SN 9 U, 5.
4T = I Ry o |

1.2 : dfesd |vgan

1. 9T &P & YHRUT R el & 7

(A) g (B) ST&I0T
(C) RIS (D) Sufvg
[UPSSSC &I Wera (SR i)

Wt TRIE 31-5-2015]
1. (B) IS &I UEI 9T — FAS, 3fqddq
I T T — TGIL
I BT AT HET — HHAS
SIESIGER )
FTEI0T (I T BT T H HHBIVS D
o)
IRV (FHHTE & U Seed
o)
UM (TRARER, TRATET—Sa IR
3ITHT & ¥GHTT IR AR BT qgad
B TR &R AFgde qui)
2. YT 98 BT 87
(A) %9E (B) drrdag
(C) Iga" (D) \M¥aE
[UPSSSC BT Werd (SR siree)
Wt TRIET 31-5-2015]
2. (A) FEMIH 9% F9S B |
FATS & FAGg SIS D FIS
PEd &1 T 10 AUSA, 1028 I
Td 10,462 FAW ¥ | 3 9 & TG
el Y Y B Fedd & |
3. AT @1 guN, ffoRa A & e a5 °
foam T B°?
(A) AMdE (B) 3rerdag
(C) %= (D) IgdT
[STR y2¥1 gfers g ot arey,
HRIRHA 9 gS9aR (3mRel) (fa<ira urett)
e fafer 20.12.2020]
3. (C) TN b1 uF Fevas H foban 71T & | AR
3T H T 9T B 98 39 PR T
FAg—ad] Sqarell &1 qui, TR
I |
Fde—a & faftml R a9 &
T, BHBITS |
ATHIE—MeT |
SFodag—agas |

1.3 : B3l TIAT] D HIfieh

T (g T2 oI o)

1. 3§ 7 H 37T g TR <
BU, 310 7 Bl STERRIET IE o |

2 | AGRAWAL =XAMCART

The Buddha preached his first sermon and
laid the foundation of his Order in :

(A) #/Jhansi
(B) 1erTaT/Bodh-gaya
(C) T/ Kaushambi
(D) \RHTI/Sarnath
[UPSSSC 3R \e—3iffe=ie 1. uem
e fafdr : 28-07-2019]

. (D) W&l gg P! STl & Giuel g4

@ I S YT g | I8 AR H
IR 5 STEIvT TRl 1 Fagem
Suaer faar, Oy drg vell 7 enfasm
Yaoie FE T | HEHA G A O
[IERY P 370 SYS IfeA A1 3
&3 |

. O g9 H, T 7 (BR) faw 91 8 @ik

I frafor 1 Art el S B 19 F T E ?
In Jainism, three Ratnas (Triratnas) are
given and they are called the way to
Nirvana. What are they?

(A) T8 AT, T8 T SR FE SArERvT/
Right Speech, Right Knowledge and
Right Conduct.

(B) w2 fawars, w8l 91 3R 9 =aeR/
Right Faith, Right Knowledge and
Right Behaviour.

(C) T8 faeary, T8 g2t SR |& 8maRul/
Right Faith, Right Path and Right
Conduct

(D) w8 fawarT, 8 ST SR &l 3rraRvr/
Right Faith, Right Knowledge and
Right Conduct

[UPSSSC U™ faer 3rferepy
(AT =) 9RYET (W uTelt)
e fafer : 23-12-2018]

. (D) NI & T AT FEEIN Far + b

N 139 & B A9 XA—38) fawan,
el S T e 3MERT & |

. T § g i B mdR ) Piftes,

I Siples IRBT Fel ol & | 579 |
Br-uT Pfes 7 4 T8 ¥ ?
Buddhist scriptures in Pali are commonly

referred to as Tripitakas, i.e. ‘Threefold
Basket’. Which of these is NOT among

the Tripitakas ?
(A) arfye fied/Abhidhamma Pitaka
(B) g fice/Sutta Pitaka
(C) SUNT® fUedh/Upasaka Pitaka
(D) fa1a fYea®/ Vinaya Pitaka
[UPSSSC I fasr Siferam
(= =g 9 (fg<i arel)
e fafdr : 23-12-2018]

. (C) SuHT® e & el AT, ol

IR faa fies dig T7er & for arfer
T A forer T ¥ |

. At SIfeIEl & STIER Wi IS Bl

T ¥ 3 S arell {7 1 a1 Fel S
or ?
What was the land donated to Jaina
institutions called as per Chola
inscriptions ?
(A) ITATITS / Vellanvagai
(B) TMEM¥RT / Shalabhoga
(C) Yeetes=H / Pallichchhandam
(D) s&I<aT / Brahmadeya
[UPSSSC U fa@ra 3iferery
(AT T 9RYET (WU urel)
e [ : 22-12-2018]

. (C)deeTais  — IR—SIEI0N &l &9

TS qH
AEAH — e g T A AT

q
TeoileBlad —  iF G181 &l 9

A Qo arelr iy
ERIECD) —  STEI0 B S
T Al A
. 1Y T T Hea Yl A WY e T ?

Why is Bodh Gaya an important Buddhist

pilgrimage centre?

(A) i e g Tel YT g &
Because Gautam Buddha was born
here

(B) T ¥ gg 7 F&l 9 T o
a7 |

Because Gautam Buddha attained
enlightenment here

(C) HifF MaH g 7 T U< A B
1S & AT YgeTl SR fam o
Because Gautam Buddha preached

his first sermon here after attaining
enlightenment

(D) Ffd AW gg = Tel fyafor g
o em

Because Gautam Buddha attained
parinirvana here

[UPSSSC o faer rferemt
(AT A e (WU uTelt)
e fafdr : 22-12-2018]

. (B) STERTT H STel g (d19eT) & T el

Ferem 78 & fPIR 9 9 gan
o | AT g 7 g & T AT
Eael

. ST 9Tl R & §1e, 1y a1 g vy 8

ST ST @ ?
After attaining enlightenment, Gautama
came to be known as the:



(A) /Jina (B) §&/Buddha
(C) ¥/Jnana (D) Sf¥/Bodhi
[UPSSSC 3T faam= 3rferamy
(=T =) a_ven (feeir dre)
e [ : 22-12-2018]
. (B) 9T Wi & 1< e 1 M g5
A | ST T S6 S 563 §.
Y. 3&aA1q 99 B AR Fol B ISl
YEITT B J8l goTl | 3© AT |
qAfT—g& & T T B WK g,
o g7 = Rigred | Maw gg
sl
. drgl & foTu SR yawr H Rerd AR=er =
Heaqol & ?
Why is Sarnath in Uttar Pradesh important
for Buddhist ?
(A) WTEH gg 7 AR ¥ 94 U< fban
1T/ Lord Buddha attained enlighten-

ment in Sarnath

WA g BT o AR H 37T o1/
Lord Buddha was born in Sarnath
T g b1 AR A HeaRaror
(%) T o1/ Lord Buddha attained
mahaparinirvana (death) in Sarnath
S 9T R & 1S, WA g o

IR H ST Ugell Sy fa o/
Buddha preached his first sermon in
Sarnath

[UPSSSC faserm wa=1 et Td
TEIRETH IRIET (U Tl )
wen fafdr @ 02-12- 2018)

. (D) T gg 3 ARAYT (3. 9) H U

gl SUSTT f3T o | 39 eerhgac

& A ST ST B |

(B)

©

(D)

8. gg 7 37U Bl SUS Pl faT o ?

Where did the Buddha preach his first
sermon ?
(A) EI\’Z?rﬂ:l"W/Kushinagar
(B) RA1Y/Sarnath
(C) smrear/Ayodhya
(D) IRTURY/Varanasi
[UPSSSC fasm wa= ve1s Td
Tvers e (g arelt)
e fafer : 02-12- 2018]
. (B) W& §§ BT 919 563 . 7, e
(FTaTeT) ¥ T o7 | STB AU Yo
SR HRAT H 7 o |

Gautam Buddha preached the Dhamma-
cakkppavattana Sutta (Dharma-
cakrapravattana Sutra) at ...........

(A) PfUeTawg/Kapilavastu
(B) GfeHT/Lumbini

(C) &g T1/Bodh Gaya
(D) 9ERTY/Sarnath

[UPSSSC B were (R siiee)

9.

10.

10.

11.

11.

12.

12.

13.

W IRV 31-5-2019]
(D) AT g - AR H JUH Su<El
feam o | S gFamYadT Hal Sl
Bl
Ife aar s fpdd Saar &7
The Vedic deity India is God of—
(A) a1 %/ Wind
(B) T®IM &/ Storm
(C) a8t g ggard %/ Rain and thunder
(D) 31 &/ Fire
[UPSSSC SR SonferR/aa-rat
Wil g1 31-7-2016]
(C) T5—as1 & <adl, Ig§ & =1, T &
fowas onfe <aa1 & w7 Wi
|
Fiftes’ fraforRad # < fray wwafred
87

‘Tripitaka’ is associated with which of
the following ?

(A) ST 9/ Jains

(B) d%gl 9/ Buddhists

(C) Rt 9/ Sikhs

(D) f&g3if ¥/ Hindus
[UPSSSC TfFRIR SiifRR/aara

Wl IRAEM 27-12-2015]

(B) ‘Piftes’ dig T # Haifers wea-
9ol 31 gg B I S 9| S
fRremel @ FHferd R NH HRN
H gfer | 3 B Bifes wEd
B3 T e, g fies qon
e e |

I8 el el sYadH 7 dig Tel- =

BT AT famar e ?

The place where Harshavardhan Organ-
ised a Buddhist council was :

(A) BrEN/ Kashi
(B) 93171/ Prayag
(C) s/rear/ Ayodhya
(D) |91/ Sarnath
[UPSSSC SRR SonferR/ad-rat
Wl TAem 27-12-2015)
(B) YT, I8 ¥IT &, STal BYa8H o Shg
R Bl 3RS o o |
M gg—

(A) TR Y_T g0 &

(B) = Il & U T o

(C) & 9M Ul H_4 & 1§ &l STl
geT SUSe faam o

(D) I& AR T

[UPSSSC &f s Wers (Sfa sifce)

13.

14.

14.

15.

YBATT Wt TRAET 19-2-2019]
(D) §rg &9 & Yadd e §F Bl
FIR (FRIART)  fator yrey gaim
o | 8T 483 $.q, FET g 1 HY
T 0
ART F O AT & AR, T Mfadv
Pl TP N B AP & w9 H TR
frar a1 ¥ | I et § 9 Uge B
'
(A) FEER (B) ured=Ty
(C) Ruwmyg (D) S1f¥eian
[STR 991 Yfers gen oidt arey,
HRIRAA 9 AR (37Rel)
(f&<ira arelY) 20.12.2020)
(C) Ruwmty 59 o & Ugal defax va
RGN M MRaRY 249 Wefax 1
A e 1Y T greaHry 239
Mefax B
gl o WefaR B & ?
Who was the first Jain Tirthankar ?
(A) EER/ Mahavira
(B) 9%/ Rishabha
(C) U™ A1/ Parash Nath
(D) Y<HSTH/ Padmabrabha

[UPSSSC vrora foieres axiet, 17-7-2016]

15.

16.

16.

17.

(B) HUWST N EH & 249 Wi A
o R | HEdR WMl 244
Wefax I |

AN DI 97

(A) T A TRIH

(B) U dfa® H

(C) T i faig

(D) T drg IRIMH

[UPSSSC Tdha=<] oRauTel
Wit gie, 8-11-2015]

(D) AN s g Srif®s o R
g g9 P 99 THEE H A TP
T HET & ST Bl o |

IR T E—

Charakasambhita is work on :

(A) TIOTT/Mathematics

(B) arRg®elt/Architecture
(C) fafrear/Medicine

UPSSSC 3&IIaR U< PET UIQAhHATAR | 3



(D) TSI/ Polity
UPSSSC (PET) Y2 UTedl,
24-08-2021

17. (C) =& wfedi—axe Afear fafesr

¥ gEfted ® 1 9Xe fgar &R
I |1 gdT B QA AT
SR T € | I8 |epa Ao 7
orRaT T ¥ | IR el B AR
S TR I AT ST & |

1.4 : 39 1ffe IT=<Iel1

(9RTad, ¥, IwTg e 3nfe)

1. 'HEIH Yo B 99y Seoid -
forRaa # 9 5 o= w1 7 gom &7
(A) TUY TR0 (B) SUMEE

(C) MR (D) FETMRT
[UPSSSC Tdha=< eiRayTel

il aer (v urel)
wien fafd : 08-11-2015]
1. (A) FESHI oI 6 Scoid FaYeH Iayef
IO H eI & | TI9e ST Yadd
Igde H IRV T qEH A
STEI0T U § SUP AEh aI HW
Irsraed o I |

1. o7 AR & sRaR A S99 g
Rifre® &1 = 99 & S WaH §§ 3
o fafecaas & ?

Name the celebrated physician in the
court of King Bimbisara who was the

personal physician of Lord Buddha
himself.

(A) SISIerg/Ajathashatru
(B) WIRY/Sariputta
(C) Sira®/Jivaka
(D) <getr/Rahula
[UPSSSC @R (He—3iifd=ie) ur. ulen
i fafdr : 13-9-2015 (< ure))
. (C) &% a9 & NS R & SRR
7 v 9Rig fafecas Siae o
FRAT o | S [R5 waH g8
& fon fafredd @& o # S Ha
& feTg HT off |
TR A B s gfig oS
FAEHR B FrferRad s A & ST
ST o, S Ferar:”

This famous political advisor to
Chandragupta Maurya was known by all

of the following names, EXCEPT:
(A) 9TUTHI/Chanakya

4 | AGRAWAL =XAMCART

(B) FST<1/ Vishnugupta
(C) Pifed/Kautilya
(D) &I/ Samudragupta
[UPSSSC I Tt Siferam
(A= =g a_den (fair drelY)
e fafdr : 23-12-2018]

. (D) 9959 & STl IS« b Tgd

FATCHR A0 Bl Difced, sy
< A A A ST ST o, S
QG , T %0 T Tob TRAg AP
o | T AR G BT ARID o7 |

. HTC 372 BT BH-31 R BT T

SP! TS &1 Seog BRaAT B ?

Which Ashokan Rock Edict mentions
Ashoka’s triumph in Kalinga?

(A) TH/First (B) g/Fourth
(C) ¥9d/Tenth (D) TR&EJ/Thirteenth
[UPSSSC U faer 1fererl

(A= =g 9_ien (fg<i aret)
e fafdr : 22-12-2018]

. (D) 3RIP & TRed RIcAeRg & AFAR

SET AT SITRYG B TS a8
9 BN g a9l Sl b Iqh!
SREY st &R ot gg o it
262-261 39, # 1 1|

. 3P F DAY Rietera ¥ sl ffd &

TART & fobar T o ?

In which of the following Ashokan in-
scription, Brahmi script was not used ?
(A) IR/ Sarnath

(B) ¥EEITEl/ Shahbazgarhi

(C) &ref/ Dhauli

(D) STYa # ¥ PI% T8/ None of the

above
[UPSSSC RIord fRieTe Tyer
e fafdr : 17-07-2016]

. (B) TSI Sif¥ere—aRisS ferfy

foren ¥ BruR iferE sl
fafa & 31

. 3TN P STTPHAVN &b QIR HieHT (LT Iid)

& IS DT o ?

(A) qefrer (B) UTefeTg
(C) Soor (D) dremeT
[UPSSSC IoRa  oI@UTel
it gren (T arett)

et ffer : 13-09-2015]

. (D) 3R P SMTHHUT b IR BieTT (A

TidT) b1 TSTeT Tremert o | 31ed +
Y IS B 8 Y q1& 37T
99 99 261 3. g, | Piew B o

Pl | 3BT Seoid SHP 134 RIaATerg
# fierar &1 58 gg & 91 SR A
o= faory &1 ife =TS |

forefR o |

The Mauryan economy was predominant-
lyafan__ .

(A) P areferawen/agrarian economy

(B) QIR 3memka srefeyaxer/trade-
based economy

(C) S emenfRa sreferawen/indus-
try-based economy

(D) g 3NemRa srefegawe/war-based

economy

[UPSSSC @i wrafRve wel aien
e fafdr : 24-12-2019]

6. (A) Af@Tel nfdie wgaxer : Iog Bl

Sreferawe S, e SR aTfrey
MR IR R & | 37T Afeafera
¥ ¥ I FE T B Srerd gy
B HIE | 37 FaERT H B =
T | TP 3TV oMU DI fIQrearen
P S I §¢ Pleed T Fal
® f5 9 o a2 IRy | 98
I T gt & o W B WS |
RIS & AR TE S
P &Rt 2, ST R 9w A
3 T | 31 ITSTbT Faradi & geb
B B BRUT J AR FHI A H T
B AR 7 3 foren © f5 fy
el & fafe ara & 9o o |
TeTe YR B & | <ff et ant we
A IR BN &, 3T AR H &1 A
PIed & | A B YR FART AT A
WA Ao & T, 9 g B e
T A SIS G S | AR
T 39 99 BT P IR QAT 8
b 27, 3o 9 R B A g
T (fFT) & <N FEATERYT §IRT
TP A 9T B | Sl B |
AT S B |

7. UM WRG B HEM SIPRUNA] gaSTir

fFaes AHPBINT 9?7
(A) 5w 9’ (B) erd
(©) g gT (D) agfHA

[UPSSSC teR I #eit gRiem
(fa<ira drelY), 28-2-2016]

7. (C) UdSIfel g 3T & AHSI o |

(9 TR §. Q) Soi TR
DI URTg YT HETHST BT AT Dl
o |



8. FfoRad & < AR Fell &1 e 9|
DT &7
(A) =9 (B) ¥@
(C) 7 (D) IR
[UPSSSC s wer (Jfar siftmde)
Wil IAEN 24-4-2016]
8. (A) T WY BT BT A HIGH & |
AU FHIC ST2ND o XT= T Bl
Hell /IRURT IRY HRATS |
9. frfafera & & ®HI9—1 eEn® &
S T8 en?

(A) PR (B) To
(C) Fic®d (D) BT
[UPSSSC wfrs werms (SRR sifee)
Wil IAEN 24-4-2016]

9. (D) M WU g SHP G4 H T@RIR AR
IH F AT H T AT | 3B
P AET B A SHP dIferar
I FUiRT B ol &, aReE-STR |
ST S&T0T H AR JoixT (FTeh)
J 3Ed & Aferg el &1 &féor
H el UTey Ty G 9 BReAgs Pl
SENE A AU TSR [T I
(fesr Rrem i) |

10. g1 |4 WU 59 Prat | e &7

(A) BT BTed (B) I<T pret
C)TaET B (D) 9 FIe
[UPSSSC adaw=<) iE@dTel

Wt gen (T aretr), 8-11-2015)

10. (D) &5 \id1 WU 1 1071 HHIe o1l
= PRI o | 39! 101 3003 [d
H gol |
AT e YR B IS | §
Rer & | 98 SFgql/HER B STpicl
Bl I B |

11. & TE SHERT 9§ o199 B Tga T &Y ¢
Identify the dynasty from the given

information :

*  gSIfia T S 9% I AT B | D
T 0T H T A T el I 3R
urefega, srie iR fafewn & R

e &1 SN Q& SRRy iR
fre | 5= Sfargae <o, SAfea &
&

Pushyamitra founded this dynasty.
His dominions extended to the South
as far as the Narmada River and
included the cities of Pataliputra,
Ayodhya and Vidisha. He performed
two Ashwamedha sacrifices. He
also defeated the Bactrian king,

Dematrius. -

*  TOT9eT 1 Yol ToT HRTHS ol |
The fifth king of the dynasty was

Bhagabhadra.
*  UAelel & UG U TS 59 99
% IR forg Ty o |
Patanjali’s classic ‘Mahabhashya’
was written during this time.
(A) TUq IToTaeT/Kanva Dynasty
(B) ST Tw1a¥1/Slave Dynasty
(C) dreT rotaer/Chola Dynasty
(D) YT 1<1ae/Sunga Dynasty
[UPSSSC 9 i siftrer (amar=a
=3 ) wen (fg<ir arett), 23-12-2018]
11. (D) gSAA YT 7 YT a2 DT LA
BI, S A AT & a9 Bl
HEAYH el Ve o | BUg 21
P FRAIS agad qAT dlel a9 B
AT fasTTery o |
12. ARSI AR & faa=or el “gfeer &
gD A—
“Indica” which is an account of Mauryan
India was authored by :

(A) T 3 ®IS T8/None of these
(B) T T/Hiuen-Tsang

(C) ra/Fa-hien

(D) 1ﬁ"l’\‘i’F‘ﬁ\_rr/Megasthenes

UPSSSC (PET) fg<ia urett,
24-08-2021

12. (D) ¥rf WRIST & 999 T W™ @
T AR ol A WRerST |
3f0EaH! Te T Tl | 389 Sa
quie foam fop YRS &1 a9 991 TR
TTCfeTgA o T2 6 371 56 THIh
A TS R B e P quie fha
5l
R ¥ WY B AD
TR T TS qeapleie R &
U B |
BIITI—%TE o AT gaid bl
ferfierg fopam |

1. IR 3fieN H gk o 9 ?
In Indian History who was Dhanvantari ?

(A) S ¥ BIS 7T&/None of these
(B) B & W & TF YRIG AICHBIR/A

famous dramatist who lived during
the time of Harsha

(C) T fagmifay & | & genfira
BT el IR ffdsad/A noted

physician who adorned the court of
Chandragupta Vikramaditya

(D) TSI AR & YRIg FTIf/A famous
general of Chandragupta Maurya.

UPSSSC (PET) f&<ia aret,
24-08-2021

1. (C) TSI fgpmifacy &1 |q41 B1 RN
B el TRIg FIfdheda |

T —euae qtf Toraer & I 9 |
TR HERTSISRTST & ST T&0T Bl
o | < AT ST A S g
YINAT Y, ST SiaT Pl B IS
+ gSaRa # foran |

T fawHfed— 5= asTw
e & wed &1 IR B wEETH
e I | [ AETR B 0T T
A | AP AEAYUl IR B |
g W R BT URF BRI,
3P XX A A XA I
HICGT, aRIEMRY 9 &R’
T 9 |

TS UR—Y WRA B HeM qIC
91| 3789 F<aY Bl URINIT BY
HArfaer &1 w1 A | 7S T[S Hed
ASRISEREENER RS DIERED
TRER A AR FAM XToTge o
PR fopar qen sfied T s
ol | arsTat AR 1 AUgrepred AR
YUSIhied & A | SIHT Sl B |

2. F=faRed ford o9 9 wRa amg ?
In which order did the following come to
India ?
I. e JA/Thomas Roe
II. ®ram/Fa-hien
III. ®F9rT/Hiuen-Tsang
(A) 1L L 1I (B) IL 111, I
(C) 1L LI (D) LI, III

UPSSSC (PET) f&<ia urel,
24-08-2021

2. (B) THE -3 & 16163 3 TR
D IRTTPBIA § 9K, STITS B IOl
T 3T ThR SXC ST BT B
AT BT |
BIIH—Y YR 4 99 3R a9 <
RS- B T fapHTeed I Pblel
of | 98 T AT A & | SHBT S
g T721 THT DR S A o ST
of |
FIAN—IE BYaeH & INAH |
SR & | 3R ST G A G b1 H
VRA YHUT Bl Seoid T | I8 Th
g fig 1

UPSSSC 3&I™IaR Y- PET UIGIHHATER | 5



1.7 : [@IRR HTA

1. BYGET 715 SIS I S fmor A feran |

ST | -5 ZENT o ?
Harshavardhana brought ‘5 Indies’ under
his control. Which of these were the ‘5

Indies’?

(A) TSITE, et ST, feR 3R g
Punjab, Kannauj, Bengal, Bihar and
Jaipur

(B) UOTE, ot ST, foRr 3R SEm
Punjab, Kannauj, Bengal, Bihar and
Orissa

(C) USTE, HIol, T, SR U< 3R
I
Punjab, Kannauj, Bengal, Uttar
Pradesh and Orissa

(D) TSR, BIINT, I, f9eR &R
SNk

Rajasthan, Kannauj, Bengal, Bihar
and Orissa

[UPSSSC U famr rfdrarRt
(A= =) aRven (fai are),
23-12-2018]

1.(B) ¥t & fg=r § o aret 5 g

J—Iofd, BT, ST, fBR 8iR
SENIEEN

1. i % eremsE Raesil & INIwd 6

Srafer o &y ?
What was the period of Alauddin Khilji’s
reign over Delhi ?

(A) 1296-1316  (B) 1286-1316
(C) 1303-1334 (D) 14101437

[UPSSSC fasm wa= es Td

TRETP e (U Trell)

wen fafdr @ 02-12- 2018)

1. (A) T Foawd B 7 1290 . 9 1320

. TP BT Plel RIeToll 997 B Blel
o7 159 92 H 1290-96 Tb STATIE
Aot Raerol denm 1296-1316 6
ITeTSEM Raetoll INI® B |
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2. U ST IR & b R & et

8?
With which part of India is kingdom of
the Palas associate with ?

(A) 9=/ Western
(B) gdf/Eastern
(C) =f&mf/Southern
(D) STI/Northern
[UPSSSC faam= wa= vere ud

TERED TAET (UL Tl
e ffer : 02-12- 2018

. (B) UIeT WISy &l el 750-1174 ST

TP o1 36 9RA S Al 9 W
T 5T o | UTet ST BT RIS
AT o | AR $F G DI AL
i

. Rewr @t fF=felRaa & 9 foew o9 &

Hafere o ?
Khizr Khan belonged to which of the
following dynasties ?

(A) Y™ de1/Slave Dynasty
(B) Rgetsit 991/Khilji Dynasty
(C) g% 991/Sayyid Dynasty
(D) @& 921/Shah Dynasty
[UPSSSC fasm wa=t ve1d Td
TEIRETH TRIET (W UTell)
e fafer : 02-12- 2018]

. (C) Rawr & % 99 1414 # JU< 997 6

TATTAT B & | AIS T BT B
1414-1451 9 o | Raw & 7 “XIq-
T-3fTeT’” I ST &7 a7 & |

4. STEE & fITared & HRUT JeARN

e B IR 8 | PIETAR H SIIaS Het
3R B HART 7?7

(A) TS, 1192

(B) ¥R, 1193

(C) T=irat, 1194

(D) SoYa # & DI T
[UPSSSC 3rfH Wil wiem
e ffer : 14-08- 2016]

. (B) IR & g (1193 %) ¥ Jow1g NI

= STRES Pl IR $Y 89 AR T |
SHA A 11927 TR $ g A I

o JeARTS A Bl IR R el
TR ool HR foram o |

5. SISl 9 Q4 BYqE Hel P D A7

(A) BT (B) $¥TR
(C) sma==it (D) MR
[UPSSSC 3R it aiem

e A : 14-08- 2016]

. (D) TYAET UMRER & g I B

INTE AT| 606 § B AR Bl
IRAP &1 d1 § BNl B By |
ST TSI G117 |

. oo R ou T T & R Rerd

or?
The city of Vijaiyanagar was located on
the bank of the river :

(A) T/ Ganga
(B) @11/ Kaveri
(C) 9K/ Tungabhadra
(D) 9™/ Krishna
[UPSSSC ~rorva fRiers aer
TRy iy : 17-07-2016]

. (C) fas TR 59, 9T 741 & <

TR 13364 BReX g gl gIRT AT
oo a1 e, S IISIE fasrg
TR & 99 IR T B AT o
TR @ T gIH T VD
faorr TR &1 gfaffea B B |

. Riarg & fov Ao et oy “<el Sier’

1 0T 9 ¥ o aveT ST = HRarn
or?
(A) RS (B) IoI % UM
(C)ISRS YoM (D) $99 | P18 718
[UPSSSC adha~< ol@drel
Wil aer (v urel)
oA fafdr : 08-11-2015]

7. (B) RarE & forw Arerg #ia o=l ‘aret

e’ 1 AT ‘o g 7 famn
o I USRI ddH & AR
I qUT PR RIS Hews bl Il SR
eI UTey 9 hRel Al ¥ gl
IS AR TFIEPHIvS Ufted &l Surfer
HRT 9 |
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1. 979 SHISAT B CGS YUt o FferRad
T R aRHET ® ?
CGS system of measurement units stands
for :
(A) TeAH, T, W&/ Coulomb,
Gauss, Steradian
(B) wfeqss, g, A</ Celsius, Grade,
Second
(C) wifeferex, o™, ¥/ Centiliter,
Gallon, Siemens
(D) HEHex, U™, AHs/Centimetre,
Gram, Second
[UPSSSC @IeR (\a—3iifE=ie) ur. uien
e [ : 01-10-2019] (&< dren)
1. (D) HEHIER—UMH— JHUS SHE JoTel!
(CGS) 4 gHhrsal & AT Bl
Ul B | ST I 915 § MKS
IPIS YU =1 of foram o, fovTs Hiex,
fpetm, AhUs YANT BT o |
2. Tfset (stress) @1 SISHTE T & ?

The SI unit of stress is :

(A) Sfet/Joule

(B) Ur&hei/Pascal

(C) aree/Volt

(D) drc/Watt
[UPSSSC @I3R (Wa—3iff&ne) u1. aien

wien fAfd : 30-09-2019] (Ve UTel)

2. (B) |aq AT # Ufqde (stress) 9
AT SHE &Hh TR RN S
TIRT g1 4 & Sl TEX BUI &N
U TSR U IR TIAT ST & |
Yiiael B SI AEId UR<ba Bl & |
3. AT B SITHE R ?
What is the SI unit of time ?

fasm=

Hifcrd fasm=

(Physics)

¥ 9= fafdRor & 9192631770
SfETpICH B ST PI | AHUE Haad
Bl
4. Sl B SISHE FAT T ?

SI unit of energy is :

(A) =ge1/Newton

(B) S[c/joule

(C) fdbairare/kilowatt

(D) ERfuTaR/horsepower

[UPSSSC IR \e—3fTfEie 1. u_ien
e fafdr : 28-07-2019]

4.(B) Suit &1 SI 3HI% [ ©| Wi d
Holl IEG3l B TH 0T B, S
I3 PI FIFRRT fHar ST Feha
©, a1 faft=1 <ui 7 wuraRa faar s
| B |

5. SRIA &T (SI) THE T E ?

What is the SI Unit of volume ?
(A) B9 AEHIeR/Cubic centimeter
(B) ¥ #HIe/Cubic meter

(C) &9 SRR/ Cubic decimeter
(D) ® $d/Cubic inch

[UPSSSC IR \a—3Aif¥e u1. gien
Tren fafer : 28-07-2019]

5. (B) 3MIdd &1 (SI) 3HE & HeX & |
SR Tt TaTel g1 foRT gt v
BT, TARTITCAT 3 feras & Sy
NS BT SYINT fHar i1 &

6. (A) IRR TIAM GBS T TRITAHCH
LABD, A I ¢ & fFA B WR
P HR IHD <1dls B AU A Sb
T AT T | SRV B TRy ARG @A
S foTT ITaT &1 99 377 22 9 X i
& BT ARy |
7. SRAM, AT IR THI & STARTET Jored!
(SI) AT T E ?
What are the System International (SI)
units of mass, length and time ?

(A) PR (kg), MR (m) IR JHS
(s)/kilogram (kg), meter(m) and
second(s)

(B) U (g), Mex (m) R HHS (s)/gram
(g), meter (m) and second (s)

(C) T (g), fFarex (km) 3R dHS
(s)/gram (g), kilometer (km) and
second(s)

(D) el (kg), fFaMIeR (km) 3R
wal (h)/kilogram (kg), kilometer
(km) and hour(h)
[semeraTe &1 BId Ry iR (RO) el
e, (e ve= o)
24-12-2019
7. (A) IR Yomedl (SI) H§ S
D fhAM (kg) TFETS BT AI5DH
Hex (m) IR THA BT TS ABUS
()BT E|
8. THBY ..o I & SRR 8 |
One Karsha is equivalentto_ grams.
(A) 130 (B) 13
©) 12 (D) 120

6. IRR TIAM Gabie (I AE) TSR

(Srewarg) @ o frEfaRad @ gR1 A
SR 5 —

Body Mass Index (BMI) is calculate by :
(A) HaTE Wex /a9 fH #/height in

[UPSSSC g wmifRe
Wl IRIe—24-12-2019]

8. (C) TP a¥ 12 UM & SRT&N Bl & |
9. DT YT FT ST ATHS FIT & ?

What is the S.I. unit of magnetic induc-

(A) ElET/Hour metre/wefght in kg tion ?v

(B) ¥ /Second (B) raré A2 #/awT b #/height in (A) %/ Poise

(C) f&e/Minute metreX/weight in kg (B) AT/ Tesla

(D) Fefi@e/Millisecond (C) Saré e /v R Wheight in (C) SRt/ Dioptre
[UPSSSC @laR (Wa—aiffée) ur. wden cm?/weight in kg (D) %etl/Candela

[UPSSSC teR 11 ¥lt udet, 26-6-2016]
9. (B) <A DT IRV B S.1. TFIS ¢ |
104 T = 1 T
199 = 1 Ja=/Ae

wRien fafd : 30-09-2019] (Ve UTel)
3.(B) 999 %1 SI ATHA® AHIE 2 |
JITIH—133 URATY B A 3raeer
@ < FARTd Suif wRI & i FewoT

(D) &S fbu ¥ /Sarg Aiex H/weight in
kg/ height in metre

[UPSSSC =11 TideTs Wit TRIet, 2019
e fafdr : 31-07-2019]

UPSSSC 3UIdR U3 PET UIGIhATNER | 123



10. 3T AT B SHTE BT 79 FAT 8 7

Name the unit in which frequency is

measured.
(A) ®RS/Farad  (B) Uigsi/Poise
(C) &Sf/Hertz (D) 8FT/Erg

[UPSSSC 11 Wfders Tiem, 3-7-2016]
10. (C) ®IE BT Tl F1ETH & T Hhvs A
AT IR T FRAT &, S Mg
PEd & |
mﬁm%ﬁl

11. TRRR & SI SPTS T—
(A) THTR D Ao
(B) fag ware
(C) fage smaw
(D) FrPI &3
[STR U291 Yfer YRe ot arey,
PRI 9 gS9aN (37ReT)
(fa<ira 9re) 20.12.2020]
11.(B) THRR fIgld vare &1 SI &% & |
GBI B Aol B SIFHE  drsell
B
12. TS BIUTER SRISR Bl —
(A) 700 A€ (B) 746 d1e
(C) 750 a1 (D) 800 aT€
[UPSSSC adha< ol@dTel ¥t UNIel,
Wt TRIEn—08-11-2015]
12. (B) U BRIUIGR 746 dTC & SRTSR 211 8 |
g TR BT AFD & | B BRA BT X
BT Tfh Pad & | A fHel Fal gy
W BRI, T 9 ¥ b STt & & el

ﬁﬁ%ﬁﬂ%mmw
qre (W) &, SR Sfate & A |

G TR B |

_ PR S
Qﬁ%ﬁ—ﬁ—? =d[c

1 W=1000W, | MW = 10°W

13. YT 99 fhded AT & shE B7
(A) TR STEIST & IRy A
(B) TS g9 § fafd # yebrer g7 9ol TE
A
(C) T® a9 # fafd 7 s gR1 =l T
B
(D) TH a4 H A T e Bl AT B
UPSSSC (PET) 92 TTetl,
24-08-2021
13. (B) U® 99 ¥ (Yaid # YebreT §RT Il T8
3 b1 Gpbre Y Ped & | THD GRI
Ty el & 9 @1 Y e

124 | AGRAWAL =XAMCART

T N G S | 9T B T 3 % 108
HIex A7 3 A fhaArilex Ui Shvs
B B |

1. IRbe-SPHIS &—
(A) S
(C) ast &

(B) T &I

(D) TG B
[UPSSSC <I3R T Wil aye

(f&<tra dTedr), 2015 28-2-2016]

1. (B) wif¥ P
SIER)| — IS
EiC) — URDd
T A9 —
SIRGIET - Afcwss
2. 1 dice fhdy & SRTER BT & 7
(A) 13
(B) 15[ 9l ety
(C) 1=geA Ul dear
(D) 13 i =ge

[UPSSSC I3 I ¥l gtem
(f&<fra retY), 28-2-2016]
2.(B) diee fagqa fawa &1 A5 o ol
T dlec bl {1 1 el Ui et @
I BT B
3. faggdares ga @1 A9 & forg ffoRad
9 {5 SUGUT BT SGART AT S
g7
Name the instrument used to measure
electromotive force.

(A) TINIIER/Polarimeter
(B) UreHIeR/Potometer
(C) UIcRIMIER/Potentiometer
(D) wIereR/Platometer
[UPSSSC <ilsR {a—3iifS-ie u1. wden
e ffdr : 28-07-2019]
3. (C) faggares se1 @1 A9 H UeRRIMeR
SUBRU] Pl SR fhIT ST B
Afcredt F fagd a1es 9 98 IR T,
i1 faege &1 & aRue | garied Ha
B | fagd A 9e1 &1 9 dree
4. TP QYR AlAD bl THI T
TR AR A 8
The time period of a simple pendulum
depends upon the ...............
(A) Se® @Y A9TE/ length of the
pendulum.
(B) T Sf9 & &AM/ Mass of the
pendulum bob.
(C) &ieT® & g W 14/ tension in the

string of the pendulum.

(D) <reT &I I & B9/ density of
the material of the pendulum.
[UPSSSC < FHfY Iqre Hel ulRug
(wgaet wart) (feira aredt)
e fifd : 30-05-2019]
4.(A) U WIERUI dletd b qHY JHT
AeTd B ATE T AER BRA B
drered foodil Uep g & i o
e YA qIIF AT T S BT
3P FEd & |
5. AR & T TP I §RT AT o
JMARTT &N T8 a¥g ST@T AR T &
g I TR Y T g T FAT HEd & 7
The force exerted by a charged body of
another charged or uncharged body is
called :
(A) aﬁl—CﬁH §ei/ Magnetic force

(B) fagaedfid &/ Electrostatic

force
© Wﬁi’m e/ Gravitational
force
(D) 9% g1/ Mechanical force
[UPSSSC faar e siferardt
(AT =) Wil e, 2018
(w2 arelt) a_ver ey : 16-09-2019]
5. (B) &I SMARIT 372fal U SMART a%g d
EGARIEINSECS I CAGHR I
g ReR {3 ge1 Fear ¢ | Safe
O I AR aF DI ATAfars
T A SAH B B YT AL B
o I ¥R v B
6. Rer 1 & Arg & TH YeE H Far
YA, A HUR B Qe A g Bepar
%1 98 g Fe R ?
A passenger sitting in a train moving

with a constant velocity throws a ball
in vertically upward direction. Where

will the ball fall ?

(A) I & &A A/ In the hands of the
passenger

(B) I & AEH/ In front of the pas-
senger

(C) 3™ & 9/ Behind the passenger

(D) T Yo @ TRy < e w

X a1 & It depends on the di-
rection of motion of train

[UPSSSC faari Tt Aferemy
(AT =) el e, 2018
(f&<ira arelt) wien faifdr : 16-09-2019]
6. (A) Rer fd & 9 X& Yo # A
T HIR B TR I A3 b B2l
¥ R |



IS YS! @RI (Acceleration)
Rerfa 3 & 1 g a3 & dro fine,
9 b A R 3| ST AR |
7. frafaRed & 9 oF-0 9ifie fn
3 ¥ o= 87

(A) B (B) IRt ot
(C) T&a (D) Refost St
[UPSSSC 311 ¥l aiet, 2016

e e : 14-08-2016]

7.(C) 91 TP AT IR &, Sdfh
T (B, TSt oot ReerfersT ool
rfeeT <Ifer 1

1. e &1 o= 1 \ae & o9 A ol
el THRIN &, A Soll B DHA-A w9
TEH gADIEN Al H goaferd B &1 HROT
TAAE ?

Which form of energy causes a matchstick
to ignite into a bright flame when the

matchstick is struck against the match
box surface ?

(A) RfisT Sl/Potential energy
(B) ISt $at/Kinetic energy
(C) YA it/ Chemical energy
(D) 91g 1/ Wind energy
[UPSSSC TIeR (He—3iife=ie) ur. ulen
e e : 01-10-2019] (&< dren)

1. (C) NEM® ol T YHR Bl ol & |
Sl &1 I8 w9 ya1dt & e Afod
T S | IE N3N & AT YA B
Refd & BRoT Ter faf¥=1 B Foi
P T R & RO I B
T TR B e B T D e
W el STe @1 Ufehar ol MRS
STl HEl Sl A & |

2. afx T (1) ¥ A a1 & fe 0
YR FIC | Yg AW (AT T)
Q YaTfed B &, A STgueel P & AI=M
J yarfed g7 (1) Bi—

If a net charge Q flows across any cross

section of a conductor in time ¢, then
the current I through the cross section is

(A) 1=1/Q B)I=1+Q

(C) 1=Q/¢ D)I1=Q—1

[UPSSSC =11 9ders Wil g_iet, 2019
e e : 31-07-2019]

2. (C) s T¥a—+ ¥ foddl a1dd & A R

¥ BRR &1 3R gg e Q yarfed
B @ B, AT IR PIc B AEH |

Tarfed &R
A Q B

Q O

3. 12 VS fawdieR arel a1 fowgai & &g 5

C & S DI TIFIRG S | fby S

et Hf BT A feT Bm?

How much work will be done in moving

a charge of 5 C across two points having

a potential difference 12 V?

(A) 171 (B) 247

(©) 601 (D) 1617

[UPSSSC =1 Tideres Wit giet, 2019
e fifd : 31-07-2019]

W

(O P V=g

W=V=xQ
(F& V=124

Q=5 )

=12 x 5 =60 &

. fr=faRed & I -1 AP, 7 11

SraR 1 IETERT B ?
Which among the following is an
example of a class II lever ?
(A) & SR/ Wheel barrow
(B) ®RIU/ Forceps
(C) T=4/ Tongs
(D) -Ig%/ Knife
[UPSSSC fasm &< stferamy
(AT =) Wil U, 2018

(w2 arelt) aRver ey : 16-09-2019]

. (A) TR @ gfe T AR B G T

T3 97 9 ST Sarexvl e
W

T 1—  S&L B
T [I— el S_Y (S oM
Y ) TRIBT

T - 3g, IR

. T <gfth gl &l #aa A Y1 a9 600

N AU B 1 IfS 98 =i, Th Sm/s B i
| W o @ fowe § W Fel W @S
B ST d1 gl 3 ST T AR 91 81 ?

A person measures his weight with the
help of a weighing scale as 600N. If this

person is standing on the same weigh-
ing scale in a lift that is going upwards
with a uniform speed of Sm/s, the weight

shown by the weighing a scale will be :
(A) 600N & P/ less than 600N
(B) 600 N ¥ 31feah/ greater than 600N
(C) 600N & FAM/ equal to 600N
(D) 0% FAM/ equal to 0
[UPSSSC famra g Siferard
(AT ) Wl e, 2018
(f&<ira arelt) wten Rifdr : 16-09-2019]

5.(C) 600 N &% FAE

Th FHM T § U IT A ST
forre # =fdd @1 MR WR =
ARAMAD IR
TR F G HUR WK fode #
MR R IR<fdd YR A Afe®
BT B 9efe 9 oy fowe #
SMHRT ¥R IR<IA® IR § HH BIdl
T

6. TSI B T G el b YR bl
Sl A& FRaT &7

(A) To (B) feerfast
(C) foega (D) it
[UPSSSC 3R it aiet, 2016

et fifer : 14-08-2016]

6. (D) < BT F&T TeT frsT SHoll bl SaT.

WO B
T fUvS &1 TIT & BRI BRI BRA
BT &THAT 7RIS Sooll el B |

I B
KEfsz

7. BRI TAT ol Dl SHIE AT & 2

What is unit of Work and Energy ?
(A) S[et/ Joule
(B) THIRIR/ Ampere
(C) fHamm/ Kilogram
(D) #rex/ Meter
[UPSSSC vroied folierss alie, 2016
Ten forfdr : 17-07-2016]

7. (A) Br AR Soi T arfaer Il E,

ISREZRIECAS GRIR EREIER|
TR I AN faed= Ieq+ o
ST ¥, A 91 g fbar wan wef,
9 1 g1 1 fen 7 gu fovemas
P OHBA P IRIER BT ¢ |
8. I8 HH-A W W &, R smam

[ML2T2] % ?

What is the physical quantity whose

dimensions are [ML?*T?] ?

(A) Tomar a1 FRY/ Work done

(B) a7/ Momentum

UPSSSC 3&I™IaR Y31 PET UICIhHATINR | 125



(C) <drd/ Pressure
(D) 9<i/ Force
[UPSSSC Xroiva foiera e, 2016
wer fafdr : 17-07-2016]

8.(A) it wafen fomm

(A) BRI — [ML2T 2]

(B) |aT — [MLT ]

(C) =8 —[ML' T2

(D) 5 — [MLT]
o=t Aifirs i & fammd <= arat
T HIIRI BT e &, o S e
I e DR b AT el IR )

TG Tl & | A F a9 Wifiw
IferdT @1 fa|me [M], [L] @R [T] &
QT ¥ e bl STl & |
9. A B TFH B M T H T T B
STafh STEST (STeriT) O 9) IRl B 1
I8 Rigra 1 94 9 fdw Jenfre &
Rigra w ameamRa & 7
(A) IITE MRS
(B) IS UG
(C) e
(D) 3nfHfASer
[UPSSSC U4 Y=Irid 3iferera
Wt aNie, 2015
wer i : 21-02-2016]
9. (D) fbfesT w1 Rigra—sa
Rigrd & argar foil aeg &
IR 39 9 R 3R & 7F a5g
Pl MR 9 96 &R &l T 4
H R ¥ fhae W 31fes & | I
9 H MR IAF T A TG TN
IR IR I BT 9R 31 T @A
I T SR |
10. f=feRad 7 1 fresi Hatferes il el
77

(A) e Y@ (B) e Gamel
(C) &1 ya@mren (D) GreT yere
[UPSSSC =rha<] oI@UTel 9l IRIeT,

T IRAET—08-11-2015]
10. (B) e YT W Haie® Soil al
T e e YET § e BH
Bl B & | ol Texd BH § VIB-
GYOR & | 79I (V) [\9 3iferes
Foll] ST (1) el (B) &1
(G) Gt (Y) IR (O) @ (R)
[ B St
11. I3F FHotl BT I SHoll H HUART
(A) ST (B) HTEHIBH
(C) fRgadrex (D) 9=
[UPSSSC ToT¥d oIEgaTel Wit Taier, 2015
(fa<tra aren) w<vem S : 13-09-2015]
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11. (A) FBF ol & Igd ol A
WIIRT B & oy S
ST YA foam & | fagga wex
R 9T ol B IS Hott 7
gRafdd fear e &1

12. e & Rigr (AR 8ffe Rerfefad)

T 3 fae g1 9y wifed fasam mam en?

Who among the following developed the
Theory of Relativity?

(A) F=H EF@ &RT /Madame Curie

(B) I 3113?‘@7[ &RI/Albert Einstein
(C) s A9l gRI/Alfred Nobel

(D) T TIfd §R1/Charles Darwin

[UPSSSC TIex 3iTuvex Heil aie, 2020

e [y 1 10-1-2020]

12. (B) 3redd MY US favaufug

Agifd WiTeag 9 S ANe &
Rigid IR sewE—Sul wHemRor
E=mc & T OM o &1 S
Jgifar NIH, WA Yhre—
fIga Soaom & @t & forg 1921
A A9 REPR Y& fobar T |

13. 59 9fpa & gRT AR TTAST Sl Hrarel.

13.

14

TIC BN NS SHoll § 95 Sl & 2

The process by which solar kinetic en-
ergy is converted to chemical energy of

carbohydrates is known as :

(A) Hfead T/ Calvin cycle

(B) T H¥eNUT/Photosynthesis

(C) FARIRFARTT/Chlorosynthesis

(D) 1% RUa=M/Dark reaction
[UPSSSC 3R 1T Wil wie, 2017

15-7-2018]

(B) ThTET AT T WfehdT & ST TpreT
B Holl Bl BERISIE B
NG ot H g&et <ol 8, g
DI qR—

(0]

TR B SS9 0350
SiRefr T (aTP) | mae

L
Co,
W‘%T%W -
. Fr=feRRad & < foras yeprer Sootl, M.
e Soif 7 aRafda B &?
(A) Taad (B) fouaa
(C) YHTET LAY (D) YHTeT Taa
[UPSSSC ISR I ¥t Uie
(f&<tra Trel), 28-2-2016]

14. (C) UIY IRYATSA & P T8 ATTAES

I SERIU] HRA & T A A el
T QS a0 TR qh D BRI
DI UIRART H FARIBST D FSRIT
H TPRT FHoll DI IA™ND Holl 7
I B |
TP [ b SR O, TN
IPAvSA H I B IR © qe
CO, &1 Wel IYANT BRI &—
6CO,+12H,0 o o wam
FARIBA
CH,,0,+60, T+ 6H,0

6771276

15. fFN 99 & T 967 W & WET B

g1 I8 b Reify 1 goifan &7
(A) TSR I
(B) FHIR Afde
(C) TRRT # &1 &1 HH B
(D) S8 < | B SIoTed BT BT
[UPSSSC uRRarerd (Fsaex)
Wit TNIe, 23-08-2015]

15. (A) 919 S &I e HASR B &

ARE B TTAM ® T GAT SHoolt
& < RN ¥, SNfTT 5T 9 9 A
TGN & A1 ST S 3ferd BRe
fretdr & &R e 98 O B

1. G99 gaRe ¥ HEREM, AEIH 6

fopeel a1 ge pedq wull & 919 bl
(A) TR (B) g
(C) a7 (D) 3ma™

[UPSSSC RISTRd <i@UTel ¥t uNien, 2015

(T arent) wiem faifer : 13-09-2015]

1. (A) T TIRY & FAH BT H HFIT DR

qTel &1 BHNT HUT b 1 B g Bl
T I PEd ¢ |

CICEGIBSEYICE ]

1. 9 P THIME. I RS ?
What is the S.I. unit of pressure ?
(A) #Ie/ Meter
(B) ®feasi/ Kelvin
(C) URdhel/ Pascal
(D) =g/ Newton
[UPSSSC i@ e siferardt
(AT =g ) Wl e, 2018
(w2 arett) a_¥en R : 16-09-2019]

1. (C) T8 &1 TN 2ATS. A5 Udel & | Ui

Ui &% UR T drell g ard
PHET & | I Teh 37T NI B



3. (B) 7 gared & N sravensi A ¥ Uh
ST BT A T—o T FF I
e § gared o1 7 o FAfdEd e
BT ®, &R 9 9 e, I o
A H X I &, S)T BT 3MMHR 34X
TRT ST TE0T PR O & |

4. e1d 99 & fhatric & 9 & forg |we™y

1 B, R dret I fheex gRT
TN BT ST & | AT, e, &=
T T HE G © I S
& Aol ¥ & e 1 g fahe
SIck

7. I T PHA-PH F & ?

Which are the primary colours ?

1. frafaRed & & S yared v e
(sonorous) gaTef & ?
Which of these is sonorous ?
(A) STHS/Wood
(B) UMI/Water
(C) X«X/Rubber

3feres STINT B S Tl (A) @ret, dren, e/ Red, Yellow,
(D) @r&l/Iron % - Blue
[UPi%SC;I:f?]'\’ (- )mﬁ The most commonly used material to (B) e, Hfel, e/ Red, Magenta,
&1 TS = 30-09-2019] (97 ) make the filament in an electric bulb is Blue
1. (D) W&l U &l (sonorous) T &1 (C) @, &1, Wha/ Red, Green,
AIRT T 372rdT STet ¥ e & Hfer White

(A) IR/ chromium
(B) TR/ tungsten
(C) =AfeTH/ platinum
(D) e/ nickel
[UPSSSC I &fY Iure wel uRag
(Wige wa) (fereira wred)
TAe e : 30-05-2019]
4.(B) fIera s & fhermic &1 99 & forg
I AP SYANT DT ST aTel A
TIReA B

B I 8 | IE A U g O1g &
2. 999 B9 dIEH S R DI yared e
Thedl B, S T B8l Sl & 7

The lowest temperature at which a sub-
stance catches fire is called its :

(A) TTEIH AYAM /melting temperature
(B) 9YSderd dI9H /ignition temperature
(C) FaAATH YA/ boiling temperature
(D) f&¥i® qrae/freezing temperature
[UPSSSC ?IeR (wa—3iffé&ae) u1. aen
e i :30-09-2019] (&<t aredt)

2. (B) Usaed gumell (Ignition sysetem)
I8 T & Sl 39 A1 AY B fgor

# AT TR S e B fohar

o Bl &) el gared @ =
YA IR SHGT Tl aRacd
P! TS g HaeAdr &1 B

%9 SIAIR S9 q A B TS

A OR gRafid 8 ST 8 |98 a1

o TR 50 59 1 39 3R o AT
JTIRLATST BT ATSIGTS FHI B STl

¥ | 98 T2 Q9w & |

(D) 7iret, &1, et/ Red, Green, Blue
[UPSSSC Wroiva fAierss aie, 2016
e fif : 17-07-2016]
7. (D) <ilet, &1, e, q= T (Primary
Colours)%, T TN & 3 T
T &

ST AT <9

1. 90 & |9y ¥ e § § -1
e w8 &2
Which among the following holds true
for friction ?
(A) =07 TRy 1 faRIe e ®/ Fric-
tion opposes motion
(B) =0T T&—hE BT HRUI 78] B &

Friction doesn't cause wear and

Sliding friction is :

(A) T T 3 orer fers/ Slightly
greater than the limiting friction

(B) fa =for & ergr ¥/ Slightly
lessers than the limiting friction

(C) ffg afor & 9/ Equal to the
limiting friction

(D) Hiffg w907 ¥ HW B AR BN

e/ Sometimes greater and
sometimes lesser than the limiting

tear

(C) =fuT | ol Tee & Bl ¥
Friction doesn't cause waste of
energy

(D) TS ¥ SO B SR T

friction. BT &/ Friction doesn't produce
3. i > wEy F frefed § ¥ B UPSSSC i <e s heat
FPIT IS ? ! [UPSSSC faer g 3rferarey

Which of the following statements is

TRUE about gases ?

(AT =) Wt uNie, 2018
(fa<ira arelt) wien fafdr @ 16-09-2019]

(AT =) Wl a9, 2018
(wer uTelt) a_vem ey : 16-09-2019]

5. (B) fawrdt geor i weor & &9 B

(A) I @ v Ffdad smae oIk ffvea

1. (A) =907 S1 9 & 91 PRI I8 A

MBR BT & I/Gases have definite %WWW a T 91 A B1 faRIe HRar & | Eeoy

volume and definite shape. Easiid P PRU CC-HE BN 8, ST
(B) ¥ w1 7 < AfRTd emae Aar ¥ 6. A YA B T TP e fheey | < IS BN & AT Hoff ¢ B B |

AR 8 3! e SeR B I/ S ¥, A forg e v 5 g B s

Gases have neither definite volume Red rose when viewed through a blue ) R

nor definite shape.

(C) 1 &1 FMfTd e BT ® oifd

filter it appears—

(A) 80 kcal/gm
(B) 80 Cal/gm

A) <Tel/ Red B) =/ Bl
P SR Ff¥ad 78 B B 1/Gase ) © ) e (C) 540 Cal/gm
have definite volume but not definite (C) &V Green (D) / Black (D) T{q?i—ﬁf H P T8
shape. [UPSSSC wrorea fRislerd wvie, 2016 [UPSSSC @eR II Wl wden, 2015,
(D) T @1 ¥ ameR B ¥, aAfe e fafer : 17-07-2016] 6-3-2016]

s FREd T8 B §1/Gases
have definite shape but not definite
volume.

[UPSSSC @R \a—3iife=e 1. Tien
Tyer fafdr : 28-07-2019]

6. (D) Il g avg I T Bl ST
Y oK & < 98 Bl @R I
B e YA BT 99 el fheex
TG O, @ 98 Bl Q@

22

(B) Ua1ef @1 Sraxer Racd & forw
(Mg 99 WR) 3Maead KT Bl
AT BI T SO Bl © | T5 DI
RSS2 IR0 cal/gm?ﬁ'ﬁ%l
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1. IR (FFPHR) fre Rigra ) ol
FRATE ?
The working principle of a tranformer is:
(A) FI-URO1/Self-induction
(B) URER® YRU/Mutual induction

(C) faggd—gwIara IRUI/Electromagnetic

induction
(D) @RS &1 fa¥/Lorentz Law

[UPSSSC @R (He—3iff$ie) ur. ulen
Tier e ¢ 01-10-2019] (W2 UTelt)

1. (B) WA AT IR U Jegd AL
&1 R g™ a1 goe aren ofagq
RERERIRCE ISR I CRE
TFAHIHR AT ST o & T
e\t (areme=a) & | I8 fah
T faga aRuer (circuit) & 317
Ryer F fEgd IR0 ERT RER I
W AAD B AEH ¥ g ot
JIMIRT Rl T

. T IS H W 3R =g P afe arel

T BT T HEd © 7

Name the force that binds protons and
neutrons in a nucleus.

(A) faga gl gei/Electromagnetic

Force
(B) _g’ﬁf?l AP g/ Weak nuclear
Force
(C) BT §&/Gravitational Force
(D) 9ga AT ge/Strong nuclear
Force
[UPSSSC @IeR (He—3iff$ie) wr. wen
e e : 30-09-2019] (W2 UTelt)
2. (D) WAl & e fIga g
TRIPHUT & STES[E S0 D B
A B TU T 71 Yot SThy0T
g Bl fYfed fam 1 | A
U & HEY AT aTel Yael
BN A WS g =G B <
Rerd ol 1 919 & B
3. WS U% faga uRuer (seifdes @fee)
P gRe FrAfaRad W 9 fEey wRan
57
Fuse protects an electric circuit from ?
(A) AR (AEREATST)/overloading
(B) ol & T wT B AR H aRac/
converting one form of energy into
other
(C) &RT UREET/carrying current
(D) &RT S&RUT/inducing current
[UPSSSC @IeR (He—3iffe=ie) ur. ulem
wren fafer :30-09-2019] (f&<irr aren)
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. (A) Jgd Tenfdr va seragie WS,
YRYS BT T TREED AU & Sl
T I =T & 31 gIRT 98 IR
IRYLT BT TS T & | 3 TBR TRIL
A Rod o qoyar 3fayd rfe
6 RT & BRUT RS BF o §9
TN B | I8 Seifded Afdbe B gRem
SRS J BT & |

. dfve # fagd o1 SuRerfd &1 a1 e

& fov fF=ferRaa & 9 for SuHRor @1
SN T ST & ?

Which instrument is used to detect the
presence of current in a circuit ?

(A) VHIeY/ammeter

(B) dreeAeR/Voltmeter

(C) RARee/Rheostat

(D) &MEfeR/ Galvanometer

[UPSSSC @I (Wa—3iffEie) ur. adem
wien fafdr :30-09-2019] (fa<ira uret)

4.(D) A@MHCE TH AT ADBTHA

JUFHRT & ST Fef T b1 ol S
IR Wb o1 B o ST T
I & | THTeR fondt aRaer o fass
T A & aTell fag =K1 6l A9
P 5 & | dIecHIex Tdh A9 I ©
S =t afRaer & fadl <1 fRegali &
g favarR B A & Ty
T e 2 |

5. Soelie WA YOI B 4 grE

TP DT E ?
The three basic units of an electronic
communication system are :

(A) TRIfIER, TR oet 3R Reftax/
transmitter, transmission channel
and receiver

(B) HAfegerer, fedfegeier iR Rdrex/
modulator, demodulator and repeat-
er

(C) TrRHIeR, AfgeT IR S/ trans-
mitter, noise and information

(D) AR, Rraa ok Afegerex/
transmitter, signal and modulator

[UPSSSC @IeR (H9—3iifenie) o1, wien
wten fafdr :30-09-2019] (fa<ira urel)

5. (A) SoIgCIfe WAR Yomell & A=

AT sHE gREeR g
I 3R R T | ZRIHex T U
TUTRT & S XA, RETH AT HAR
o faga g Fadl S gERd
FRAT | TP T GOl @Y A
Al ST & | SN Ol @l 3t
—UF Aegd # QY Aed B da &

T% T | I8 Hifd B, daaT &
X e bl U¥T RiTet wafia
Y bl & | REIaR v v wems
TSI AT rerar CefifasT & Riiiet
Pl AP S8 e AR 3farsT d
IRafiT &R AP |

6. fagra gfoRiy &1 Ao & forg famfefaa

foha SURUT BT ST fobar SITel & ?

Name the instrument used for measuring
electrical resistance :

(A) 3FHIeY/Ohmmeter

(B) dleedex/Voltmeter

(C) ufMex/Ammeter

(D) rediex/Galvanometer

[UPSSSC SR \e—31TfEie 1. u_ien
e fafdr : 28-07-2019]

6. (A) VTR a1 TR o URuer <6 fony

M ¥ & arell fagfd R ol A
A IF T SFER B FEH YR
feomed O Fe &1 aRETd AT
Fferd Hueell TRFMI o |

. AC Pl DC (Smad! &RT Bl fase ar1) §

gRafia o= & forg fforRaa & & foa
SUBRTT BT STANT foparm Sirar &7

Which of the following instrument are
used to convert AC to DC?

(A) RIFE/Resistors

(B) ®sax/Condensors
©) SAWIHR/ Transformers
(D) XfFewra=i/Rectifiers

[UPSSSC =1 Tideres weif gviet, 2019
e fafer : 31-07-2019]

. (D) fIewHm™ (Yasid) & Feadr |

TG ERT (AC) Bl fate 9T (DC)
7 gRafiid far S\ g1

. FrfoRed % & SF-H1 SuSRT faegd Soit

B I FHolt 7 IR Hrar &2
Which of the following devices converts
electrical energy to mechanical energy?

(A) Sfded Hiex / Electric motor

(B) goifdga SRex / Electric generator

(C) TWMHR / Transformer

(D) fIse®HNI /Rectifiers

[UPSSSC 111 Uiaeras it gied, 2019
e fifr : 31-07-2019)

8. (A) Tores Arex T ¥ o g ¥,

e fagd ot &1 A= S
H wURr BT ¥ 98 39 Riga
R B A T F o9 mareR
HUS Pl FEDbII &3 H @ ST
¥, TT SOH YR FAIRd B ST B,
AT S IRIER qAT AT I Hoeelt
TR T B, S T AR GAT © |



9. STl & PR I T3S e TS ?
What is the unit of electrical current in
system ?

(A) dTe/ Watt
(B) dree/ Volt
(C) @t/ Candela
(D) SRR/ Ampere
[UPSSSC famm gat rferammy
(A= =) Weil e, 2018
(W arett) _ien e : 16-09-2019]
9.(D) fEga a1 &I TH 3. YfIe TRR
B S.1. RIS AME Yumell &—.
T RIS Wi ¥, T ABUS H,
R P & w71 ST & | g
BB I TPILA E—
iferep ~fen TRI.31T. TS
SRIINASIER] el

BUES] qre
SIEGIET P
gt B AET A
10. SRATEd! GRT (T B TBaE o7 (SR
H fad anT & SRy gRakia fan s
BT & ?

Alternating current (AC) can be convert-
ed to direct current (DC) by using a/an :
(A) Y98F (THIAHTER) Amplifier
(B) ReR® (RefIemgeR)/ Stabiliser
(C) faear (RfFeHRR)/ Rectifier
(D) IR (SRIBIAR) Transformer
[UPSSSC famr =<t rferar
(A= =) Wil e, 2018
(w2 arett) _ie e : 16-09-2019)
10. (C) faedry a1 MfaewrR 98 g ©
ST AC &1 DC 9RT H 95 Bl B
PHRA B
TRATBRIR—alecs AT 8RT IG &g
TRIBIR—AC fagd &1 diees 94
g
11. g g9 fFad MR B & ?
An Electromagnet is made from :
(A) ¥ @I/ Soft iron
(B) $UTd &rgl/ Steel iron
(C) draTee/ Cobalt
(D) Ui/ Brass
[UPSSSC ~rorvd fRierss e, 2016
e fif : 17-07-2016)
11. (A) =¥ A ¥ fagd g TR fean
T B R I g el
AT ST I G A B & |

12. ST | DIF-H1 fIEd &1 |arr 9 ¢ ?
Which of the following is the best con-
ductor of electricity ?

(A) |1gRUT Sfei/ Ordinary water
(B) e g31 Sicl/ Boiled water
(C) g3 9Tt/ Sea water
(D) STfad STt/ Distilled water
[UPSSSC rerea e ude, 2016
e i : 17-07-2016]
12. (C) 995 SieT fIgd &1 |waiad a1 ¢,
RIifp TGl ot 3 A JhR &
U7 gel Ted 8, N b fega yarfea
PR R ARG TN KOMIT H TEhR
faera gate & Heg PR B

13. Fr=1fied yR & fd fag@ g™
fafszor % w9 @9 R B T ?

Of the following types of electro mag-
netic radiation, which has the longest

wavelength ?
(A) TRISTHT fRo /ultraviolet rays
(B) T fR01T/gamma rays
(C) Xfe@Y a1 /radio waves
(D) *raxa< axi/infrared waves
[UPSSSC =iteR 11 it 9iem, 2017
15-7-2018]
13. (C) A & ae e faga-graary
T W Al e | e den
DI &3 H HF 4§ S aA
3 fagd graard IR HeT oIl &
Teed 9 IMgfy &6 SMYR TR $7F
7 9@ PR &—
T RIS
fepot [ ﬁnm% | fot [ EE K

e | R
& [ o

EENGS|
Eaul

IR B e § aRereed gedr Sidn
T, SMRT PH BN SIKH & 37T
T fRel 1 TR I FH
T SMIRY A AfH B T
14. T & HEGH I YaIed T GRT Bl
T—
A current flowing through a conductor is :
(A) RI9ER & y@&: ST/ Di-
rectlyproportional to the potential
difference
(B) URkRIg & Ygerd: mguiiie / Di-
rectly proportional to the resistance
(C) dreedt & Ypd SMguIfad / In-
versely proportional to the voltage
(D) Ta“tl'fi‘clﬂ # W PIS 7T&/None of the
above.
[UPSSSC 3R 1T el udie, 2017
15-7-2018]

14. (A) TeT® H Yalfed ORT faWaaR &

FHTIIT T URIRIE P GpHTgar
Bl 5

_V
"R

faegaerT favaR 9 gfoRig & 9
TP A D @ISl Sifol AgAT 31H
=PI o | T FHIROT T S BT e
B B
15. FfeRad weml @1 U iR fawed g |
(i) TP TRHHR TH IIHUT & oIt
ST faga Sui & faga onfe
AR ¥ A S @R fagd
FEHR IR0 AR TRERS IR0T &
o1 RIgTal TR B B T
(i) SYANT Y TTQ HR & AETH & SR
TR, TAHIER DI (a) FU-3TT TRAGRR
3R (b) TU-SSH TRIBIHR & Y H
EUEAEIRC ISR
(A) (i) |8 & AR (ii) T2 T
(B) (i) 9& & 3R (ii) 7o B
(C) (i) Tora & AR (i) T& B
(D) (i) Terd & &R (ii) T B |
[STR U Yferd qen it Ay,
BRI 9 gS9aNR (31ReT)
(9 UTelt) 19.12.2020]
15. (A) 9o 9 U ¢ SHT HoF | B
TR &l v faga aRay &
3= gRYY 3 fIgd IRV §RT &R
& Sact B AT Sgel fagd St
TATTART BT B |
16. A ATETH | HIRT qTEH B 5—
(A) T ¥ B T8 (B) G geiagi
(C) =g (D) dreiq
[UPSSSC (PET) U2 U,
24-08-2021]

16. (B) SI¥ TTA®d H ERT dl8d Had
EECR RN AT
YLIA—=gETT 1 @Sl difas
e o e = b o | =g
T fagd SariA &u1 & e
e 1.67 x 10727 kg Bl 81
WETH—IIE B Wil YEXWIS + Bl
o | Y& &I fag)d STl e bl
¥ g g@HE 1.67 x 10727 kg
BT ¥
17. 9RRIT 6 S.1. SH1E T & ?
(A) YRR (B) dlee
(C) 3iEA (D) BRTS
[UPSSSC (PET) f&<iar uretl,
24-08-2021]
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17. (C) 3irgd — UfiRIg & S.1. A5 (Q)
e~ fa¥arax &1 S.1. A5® (V)
TR fIEd gR1 &1 S.1L A5 (A)
RIS fara ek &t S.1. 91 (F)
18. STl &1 yaTe e & o9 Bar ® ?
(A) $OH ¢ Ao T8 B
(B) R 9 a1 @ 89 @
(C) Reg 98 8 R
(D) Re= = 8 )

[UPSSSC (PET) fa<ia uret,

24-08-2021]

18. (C) fa=[a a7raer oI kT AT Y418 H BN IR
I faga orT Fed & | AAHS W9
AT YaTe Bl IR Bl fagd &Ry
B B
T GRYY | & R BT JdT8 BT & |
31d: Afdhe Ger IR GRT HI Yale I
B ST B

1. FrafaRed 4 3 5 Sewg & fow wis
TR (STeCNITSS I Bl JANT &l fban
ST ?

Ultrasound waves are not used for which
of the following purposes ?
(A) THTES R M4 RBR &1 wan
T/ To locate its prey by a bat
(B) SE-UId &RT 9% P! I8 Bl TexTs
1 DA/ To know the depth of sea
bed by a ship
(C) ¥M9 IR & SMARE [ H K81 BT
e™ &A1/ To diagnose defect in
internal organs of human body
(D) SN &3 H argaT &l 9l A1/
To detect aeroplane in any air space
[UPSSSC dieR (Wa—3iifSsie) 1. aden
e e : 01-10-2019] (92 Ured))

1. (D) 1% (Ultrasound) 6% S &a

T & foIg ST # R S S

R R g ot A ¥

5 Al & B A G T

QYR AT HEUIRIfHT Dbl IR

209 20,000 HUT YR HbS T BRI

&1 3T 20,000 & f¥E SRy

Tl &Af BT URTS Fed & | BRI

&3 | IgIAF H gA TN B o

ISR ¥ Y& BT ST BRAT & |

THS ITeAar ARH | o ¥ 37 I

9RacHT (Weather formations) &1 ¥t

T = S B |

2. s f=feRaa § 9 5 7t § 9

el PR DA © 7

Sound cannot travel through :

(A) ¥9/Gas (B) fafd/Vacuum
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(C) =d/Liquid (D) &1g/Metal
[UPSSSC @IeR (a—3iifE=ie) . uien
¥er fafer : 01-10-2019] (&< arelt)

2. (B) & (sound) TP YHR & BT AT

ey & o Tl 3, g w9
PR FAIRT Bl 8 | fbeg g7 =
N B9 Bl BT S BEd & ol
A & B (Ear) 9 IR 9l B
eafy a1 S # 104

3. Selagi-e TFaR Younerdl 9 9 fAeferid

F 9 fr W= FRar s ?
In Electronic Communication Systems,
noise refers to :

(A) eEod Rred ol 99 R &
TR SR YT H I STl &/
unwanted signals that tend to disturb

the transmission and processing of
message signals

(B) &I & JHAM Uga arel Iof
¥ /loud music harming the
eardrums

(C) VA eafy A S G AF @
¥/sensation of hearing that is not
audible

(D) ST HAGAY St q_e # qren
T &/unwanted sensations that
disturb messages

[UPSSSC @IeR (He—3iifd=e) ur. wien
e e : 01-10-2019] (&< 9ren)

3.(A) SATSIN® AR Yoell & ‘¥R’

g RITed S |93 R &
JERUT 3R YHEBRT § ST STefd & |

4. TP afy IXT B 9T 700 W/ R TRA

<5 35 9 71 @ AR B ST B
O R |
The velocity of a sound wave is 700 m/s

and its wave length is 35 cm. Calculate
the frequency of the sound wave.

(A) 1000 &S / Hz

(B) 100 &St / Hz

(C) 2007%cSt / Hz

(D) 2000 &S / Hz

[UPSSSC T+ 9daerds w7t I_iet, 2019
e ey : 31-07-2019]

4. (D) &R TR B ATA v=nx L

(STl MIRY T2 A TR B)

35
)\=35cm=ﬁﬁ€?

x2S
. 700 = 100

700100
= n= -

2000 &S

I AR SR
n = 2000 BT

5. S TR B D N AR b IR

B TT IRA 8 7

Which property of a sound wave decides
its pitch ?
(A) 3™/ amplitude
(B) T &1 SR/ shape of the wave
©) ST@T%T/ frequency
(D) & & gaerdl/ loudness
[UPSSSC 5g FfY Icaure weEl ulRug
(WgT et (werd drett)
e I : 30-05-2019]

. (A) SN T BT AW 9B ARG D

T BRAT S | &S TR Bl TS SHBT
M & o1 iR ovar & fb eafy
fra <R A Bl |

. Tr=iferRaT 3 & 9 smafRy & ey s

BRI 51 Bl ?

Sound of which of the following

frequencies would be audible to a human

being ?

(A) SHz (B) 50,000 Hz

(C) 100 Hz (D) 1,00,000 Hz

[UPSSSC I $HfY Iqre wel ulRag
(et wat) (feira aredt)

e S : 30-05-2019]

6.(C) ¥Ma B TEHT 20 BSol A AIR

20,000 BT AMGRT HT €@ T BT
B g Al & | 20Hz ¥ B Mg Bl
€ P AT B A &l G Fbell |

7. 9g § 94 AR WEdd & SE ST

A g1 febail BT =Tfe, < Hicrear.
1 &1 g <1 |/h ?
The minimum distance between the
source and the reflector in air so that an
echo is hear is approximately :
(A) 10.2%1/10.2m
(B) 12.5%1/12.5m
(C) 15.0%/15.0m
(D) 17.2¥/172m

[UPSSSC rorva frieras ue, 2016

Ten foifr : 17-07-2016]

7.(D) Ufyeay SO B & T A 9

REAGH & 9 FA-9-FF 16.6 »
17.2 9. &1 g B =1fey | gfdeafy
A, e I 19 R Rerd g6 |as |
THIPY OfF a9 areal &, 1 B
TR PV I F<IRIel b for g8t eafy
AR T B |

8. AT TR BT 97 fpaT BAAT B ?

(A) 3 x 1089/ ave
(B) 1x10°¥r/ dFve
(C) 3 x 109/ AFHve
(D) 1x108¥/ Jvs

[UPSSSC AR ( 3me]ferfis)

Wil 9R¥e, 2016

et fifer : 03-04-2016]



8. (A) &A1 TR fIgd g WA B
[ I DR O BT AT 3 x
108 9/ HPHUS BT & |
9. FM YIRYI I7S......... 5 &9 B § |
(A) HFXS (B) VHF X&
(C) UHF& (D) Sudw |
[UPSSSC RIS (3meferfies )
Wt gie, 2016
Ter e : 03-04-2016]
9. (B) VHF (Very High Frequency) F
M BT TRIRYT §78 & | ST X 30
mhz ¥ 300 mhz T BN &
AEEA BIF TR 800 mhz §
1900 mhz & 351 H BT B |
10. <Y RPIEI # <Y & 1T fba=l 8l & ?
(A) 599 | 9FHTS
(B) 3.7539 / Advs
(C) 1099 / A&HTS
(D) 4.76 3 | ABUS
[UPSSSC RATITHR (3meferfies )
Wil we, 2016
et fifd : 03-04-2016]
10. (D) U Rpfex # <4 & drel 4.76
I/ ABUS B B |
12. GURAS TS AT BT e T8 ?
(A) ¥d (B) Hfe
(©) Reex (D) &St
[UPSSSC RIS (3meferfiss )
Wl gNie, 2016
TR fifdr : 03-04-2016]
12. (A) gRAEMS T a0 6 3%
P B
__ T A
W @
9 W A1 1 A 1 B 9 a9
&1 Ty &gy B IRT P FEE B
S & | afs ep wwear 1.35 8
@ 37 ¥ 5 avg &1 I eafy
I TRT = 35% 3Terh T |
13. 1 A & arateny § SarsT & 9.
Ve R B
(A) T 10 A
(B) TTHT 20 SHEA
(C) TTHT 30 ST
(D) TRIHT 5 ST
[UPSSSC Tdha~<! <i@uTet il URiet, 2015
(f&<trar arelY) wdten ff : 08-11-2015]
13. (C) SHa—&F & WX @ 99®
IHIS T Q1 AfRTal & ardieny 7
30 S ATATS] BT WX BT |

14. v gaeor (RSverfer gredfae) &
BT 8 B el ¥ Aeferiad 7 3 fe|
YR B AT BT fowga v B
TS ?

Which of the following sounding
have been widely used through recent
decades in geothermal prospecting?

(A) MT ARf$ / MT soundings

(B) TEM 98f& / TEM soundings

(C) UTEM 9Sf&< /UTEM sound-
ings

(D) TR A& /schlumberger

soundings
[UPSSSC Y wmiRne
Wl aRIE—2019,
e faf¥ : 24-10-2019]
14. (C) YAy qder ¥ e & & el
H UTEM A1SfST &1 faRqa aimT
o T |
15. @ @ fo weem & T T8 2 A
7
Sound cannot pass through :
(A) UFT/Water  (B) S¥Td/Steel
(C) =a1/Air (D) fafd/Vacuum
[UPSSSC =iter 11 it 9iem, 2017
e [y : 15-7-2018]
15. (D) &Y &1 faflg & W= 98 @
THd R®fh & TH AAD
TR T Sl Ppael o, G I7 I
S fRRiT AT W & AR aX
HAl & qAT eafy B A ATeTH
P TR TR (43R Bl ¥ 1 SN
A A ARE TARYT BH B
BRI &afy B A STfABTH Bl
&, STafes /7 H <A |
16. FfeRag # | 5 wafy @ w1fy
A AT B & P
Through which of the following does
sound travel the fastest ?
(A) Faf (I3)/Vacuum
(B) @r@l/Iron
(C) U/ Water
(D) da1g/Air
[UPSSSC 11 W&t TRiem, 2016
e [ : 3-7-2016]
16. (B) T w1egd # €&y o1 =mel A
HIETH _Cﬁf TRl AT E-cd UxX
AR = & sreiq foan aifes
YR JAT TF@ BT, & D
T S & 31T BN | 3 BIROT
BT § I ST, S BH *d H
Tl eafy b T A A I
wegH H B B |
(1) fata & Ter—0 /4.

(2) ag ¥ AT—332 /4.
(3) STt H ATeT—1493 1 /3.
(4) @rE § AA—5130 # /9.
17. WIS T BT ATDBT (5 gHE o
BT ?

(A) ¥ (B) Hfe
(©) Raex (D) &
[UPSSSC &fes \era (SR

IR it wie, 2015
qen fafy : 31-5-2015]
17. (A) —WR1&aN® TG &1 AGIBT Hb
=T g foban e B
« BT — IR B AAS T
o Hfe — =1el Bl 951 &, S Uh
M (1.852 ) fcrerer

P SRR & |
« Raex — 9= e &1 T
gl

18. <fiFa SfeR YR (&9 3R fhaferg
g fmaT ST &7
(A) ¥ & wigsraml
(B) TRE HrAH | 4TS STETSl b Sl
=Y
(C) YU BT AUTHT
(D) T Tz ¥ AF-fFee
[UPSSSC 3R ¥t uxien, 2016
et fifdr : 14-08- 2016]
18. (B) cffal S@R ISR P SUART
TRUE & e BfeRS AR
IR ST FRA T ERIS AGH
BATS STEISl Pl BATS TS TN SR
o o ST B

YBT3 Ud YBIITD T

1. SIFeHl & T UHT B TRINSG w9
3 veel IR fhas g1 Rig fopar
or?
The wave nature of electrons was first

experimentally established by :

(A) e fagld ¥Td §R1/Photoelectric
effect

(B) fe—@fos (91 Refe) wirT g1/
Double slit experiment

(C) Sfae= 3R SR WRINT §R1/Davisson

and Germer experiment
(D) BIFeT YH1@ §RT/Compton effect
[UPSSSC <lI3R (Fa—3iifEie) ur. uden
e ffdr : 01-10-2019] (92 Urel)
1.(C) SeEgHl &1 T UPHhT o g
w9 ¥ UEell IR SfawT @R SR
TN g1 Rieg fopam TR |
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2. Jffeedhd BEaR & B &R © 9w =

fIRaa & | P-4 IS Riga Swgad
87

Name the scientific principle behind
working of optical fibres.

(A) YPIRI BT HA 3NN Ui/ Total
internal reflection of light

(B) UPRT B FA Sl Uafad/ Total
external reflection of light

(C) TR 1 Gl 3MARD Fqaci/ Total
internal refraction of light

(D) U&IRT &1 HoT 1@ vac/Total
external refraction of light

[UPSSSC TR wa-3iff$se 1. a¥en

TRien fifdr : 28-07-2019]

. (A) dffedpa Ig a1 RS |

T e 9g s & | f=|ar

ARTS BT 9 YBIeT BT FaxoT

B o 31 Y 5 faga g

TR0 9 W 9gd 9 geIfaa

B T arftehel BRER YD 6l

el RS Rl T

. TF 9 Bl B awdTs 20 T & I

T P YT el B A I T S | O

H R BT A 30 N S | I @l Bid B

Rerfar sa AT

An object is placed perpendicular to the

principal axis of a convex lens of focal

length 20 cm. The distance of the object

from the lens is 30 cm. Find the position
of the image.

(A) 30 l/em  (B) -30 9¥/em

(C) 60¥M/cm (D) -60 ¥ l/cm

[UPSSSC 1 9iders W<l Ixiet, 2019
A fafdr : 31-07-2019]

3. (C) S¥d o o fo1g, Wicbel oralTs f

=+20 .

T BT u=— 30 A,

(ST o & foTe avg oY |0 Wed
FOTHB Bl 8)

1

:

< = gl’_‘ gl’_‘ ~ =

Il
|
= |

< | = < |= < |~
|

U

v=60 3.

4. IR TR I o §RT I D aRKAAD
JAMHIT TN & | AR el o & U
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HRT Bl IR BRI A &F a7 ST
N B IR T YN g ?

A real image of an object is formed by
a convex lens on a screen. If upper half

of this convex lens is covered with an
opaque paper, then what will be the ef-

fect on its image ?

(A) T & FHIa @l 90 & & B
YT BTV Image of only lower
half of the object will be obtained

(B) T & I HUI 9T A & B
YT 2R Image of only upper
half of the object will be obtained.

(C) @13 9 BY yr<y & B/ No im-
age will be obtained

(D) @¥g & f Bfd o 2, g
TS gl B B SIG/ Image
of the whole object will be ob-

tained, but intensity will get re-
duced.

[UPSSSC fasr = 31fSrrl
(AmT=T =AWl e, 2018
(fa<ira rent) e S : 16-09-2019]

4.(D) SAa o S PR o

q Ped ¢, AT THD HII 9T
RS BT & & o1 S @
%] @ T B g B, wif
DT AT HH B STRAT |

5. gty qewadl (efige WgpRa) ¥

fpres Ty <t formrost 1 9T T
ST 8 ?
In light microscopy, oil immersion is
used to :
(A) el &1 fasrh @it I & fore

Increase the resolving power of a
microscope

(B) geueHll @1 faweh @it weM &
19/ Decrease the resolving pow-
er of a microscope

(C) geeHll 1 smaed= wfh IgM &
foTg/ Increase the magnification
power of a microscope

(D) qeaeHit o1 f3oh 2feh iR 1o &
3raei_ oItk 9@™ & fTT/ Increase

resolving power as well as mag-
nification power of microscope

[UPSSSC faer =<1 S1ferl
(AT =) Wt aRie, 2018
(w2 arelt) aRier e : 16-09-2019]

5.(A)

6.

PRI gEeR H siEge g
ERRILS G CRIC I RER CRIIER]
(Resolving power) 9gM & fordr
o e 2

TS MBI &l el I fhd HRUT A
feg v & °

The blue colour of the clear sky is due to :

(A) Y& @1 fdac=/ Diffraction of
light

(B) UH® & fI@RAl Scattering of
light

(C) Y& & IREaH/ Reflection of
light

(D) YT B 3MacH/ Refraction of
light

[UPSSSC vrorsa flierss aie, 2016

Ten forfr : 17-07-2016]

6.(B) ey oIk Yuia & wwg w9 d

7.

@ fovol walfte QA T A
¥, q9 Gl Bl GE™I AfYh e
T BAR U g ©, 9 7 B
T § Yo (Yeprer B faRaRm)
B S %, S SR @@ A
=R <1 B | ST BT e B
o HRUr G T A P w1
A R & P B GBI TE, gfed
TN N B < &1 fp S
3R SN TE AR 3T @ (@Y
TR B BRUT) YHUE qdifein
BT ¥, SWfely ST & el
feEr S B |

FrfeRad & & o9 v et a@

TR

Which one of the following is not a ra-

dioactive elements ?

(A) @™/ Uranium

(B) e/ Radium

(C) R™A/ Thorium

(D) PSR/ Cadmium

[UPSSSC voiva fiera wdie, 2016

wien fafdr : 17-07-2016]

7. (D) Pfrm e I & T W

8.

qd O W 9 fwol St
A BT I B, AT
FEAN & | O — I, o,
~feTH ¥ 99 faRel (o, By
fopvoT) ST oxd & |
fes R = g1 fAfia wfafer gar g—
(A) IRfA®, ST, BT
(B) aR<Ifqd, e, I
(C) dIr<fass, e, Blel
(D) 3MaRARIE, Ieel, Bie
[UPSSSC lI3R I Wil e
(f&<ra Trel), 2015,
wRien fifdr : 28-2-2016]



8.

(A) e w® =7 gr1 Fffa gfifess
qrEfae, Secl T2T Biel §+dl & |

9. F=faiRad fPa® gRT ol TareT 1.

10.

10.

11.

11.

12.

frferar | sigaR fifear # eaRa
BME?

(A) ADP
(C) RuDP

(B) ATP
(D) T I

[UPSSSC 18R I Wil wien

(fa<ia dred), 2015,

e ffer : 28-2-2016]

. (B) ATP (adenosine triphosphate) gRT

il YBTer Ufifehar (Light reaction)
¥ AYHR YfAfHaT (Dark reaction)
A FIMIRT Bl & |
T PIS B 8 gsal fb sy qdor
fpaml g0 R &S &, e ufifor e
fxaTS TS B 1 UE DI A1 SUUT B Wbl
g?
(A) 3T IS AT STA
(B) &ae gHASA
(C) 3radet
(D) Baa1 ST
[UPSSSC 18R I Wil wien
(faia dred), 2015,
e fafer : 28-2-2016]
(A) THTET o1 STfel I H gffe
Hren fawre v & a1 A H H
& IS B |
I m SR B TH WS YT & 9T
@ AT Y R @ T, AV SAB TIHH
BrT—
(A) sRafia
(B) 31ferep 1=y AifAa
(C) A

(D) ™

[UPSSSC @13 I it gyen
(f&<ira arelY), 28-2-2016]
(A) g@EE Rafy w® AR & &=,
o a1 fen @I | e w@)
3 WS Bl T aRafid
& |
P =fe &1 1 R < & fore
T FAAE UUT N R[ATH TS Bl 5—
The minimum height of a plane mirror to
view the full image of a person is :
(A) IR & HaE F IRISR/Equal to
the height of the person
(B) Sfd &1 ars & oNei/Half the
height of the person

(C) AT &I 318 BT TH—areg/One-
fourth the height of the person

15. (B)

(D) = &1 Sa1e @1 1/ Double the
height of the person

[UPSSSC @3 111 *cit w¥iet, 26-6-2016]
12. (B) IfX BIE h HaAS &I Afdd FHTA

AU H SO Ul SR
=TedT &, A qAAE YT B GATH
SETg h/2 B =T |

13. e 3fE et AT §RT 9 o B

What lenses are used by people having
short-sightedness ?

(A) $S<c1/Convex
(B) 3radet/Concave
(C) sraqaiel/Concavo-Convex
(D) &Hdel/Plain
[UPSSSC 11 WRiders T¥ier, 3-7-2016]

13. (B) Moc 3fic AW & Afed Toiald

& IR < I 8, Al X B
8 | Fe Ife A & Faru &
AT afacel o 1 YT foam S
Tl G P o H AT T b
BRI g AN STT Bl &, o™y
o BIHE QY TS SR S 3R
A P & 93 S B

14. HeR AT 7 RS BT TR P <@

% forT yge U BT B—
(A) ST YT
(B) 3radel gYoT
(C) e gqor
(D) ST § & P Tl
[UPSSSC I3R 11 ¥t T¥IET, 6-3-2016]

14. (A) TR ¥ wres & agall B S

% foIv ST gUUT BT AN BT
THdT & | SAD ATl TS H AT
ST FUOT BT YANT BIT &, RAifh
R 3fte & afa =afe &1 o
U e s 78 <l |

15. ‘YT TS0’ & fopa § gepTer ol

EESIk
(A) ST SHoll
(B) XA ol
(C) faga S
(D) s ot
[UPSSSC <I3R 11 ¥t T¥IeT, 6-3-2016]

6CO,+12H,0 3; 3,72, %

C.H,,0,+6H,0+ 60,

6 71276

ERT YBRT Soll Bl RS
ES23; [ B = b =2 e 7201 Bl o
PEd &1 T UlhAT H ST U

el H geadR SRS (O,)
JAERT H AT Il & qAT
BT SZ- JATES (CO,) U
ST A CEHR PraERSeH Bl
7T el B
16. Tfdd 1 ¥
(A) e (B) =1
(C) rem (D) T
[UPSSSC 3R I Wit T¥ieT, 6-3-2016]
16. (D) T < S BT 80 T % AN
J A T B T, 9 WARD I
PEA & BT H A WAHD
T (e, &1, ofrel) UR i ¥ |
17. T I BT HIdhel ohdTs 20 T & Iel
N B I el B TIad @ T S | o
| IR B A 30 T 8 | S el B B
Reafay =rd ST |

An object is placed perpendicular to the
principal axis of a convex lens of focal
length 20 cm. The distance of the object
from the lens is 30 cm. Find the position
of the image.

[UPSSSC 1 qideres _yet
wen fafdr : 31-07-2019]
(A) 309/cm  (B) -30 ¥¥l/cm
(C) 60¥ /cm (D) -60 ¥¥l/cm
17. (C) ST o & foTY, Bidvel o Tg f
=+20 9.
TG B R u=— 3074
(ST o & forg avg 1 g9 aa
FOTD BT 8)

Bl= B|= « |~

1. BT SN M B A9 e T A g
(A) ST 9T
(B) TH. 4. 9
(C) SMgSTH e
(D) TEE A=A
[UPSSSC I3R I ¥l et
(f&<ira Trel), 2015, 28-2-2016]
1. (B) 99 U1 B SIART BT T FEl
SIAl &1 S9dI M IR B AE
I TR Y I B A TR
@ TS | A AT A (1894 —
1974) 9RA & Fe Jed o |
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2. R H W = {6 R Al B 7
(A) R & Al B B BRI
(B) TR & fers & &1
(C) R & TS 81 & BRI
(D) STdad # & I T
[UPSSSC uRareid (FHsaex)
it we, 2015,
23-8-2015]
2. (A) T @ ERIRT F W = TR
AT T 8 | R @ gl
BM B RO EERRT H I woF b
AT 3T Sl E |
T T 37ef TR AT
AR TE D G | Pl g9E T
T3 |
3. fEMerfdar A s B—
(A) FIR—eR BIeex
(B) WraRdiex
(C) PANIR
(D) SRAfex
[UPSSSC Lower I Ti&T
28-2-2016]
3. (A) e frR-ger Feex fafy
BRI AT S © 1 _feanerd gfehan
H o gyg vl H1 SO Bl
T E (o, B, y-FBRom) | ST 90%
MfeTrIfhy TR U9 M@
feIRIfhT d@ =9 & |
faf¥=1 snfasprR Fen snfaspR®

1. IR IRl §RT @l T8 3MHreT
TSI & GURGTRER Bl 7 FIT 8 ?

What is the name of supercluster of gal-
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axies discovered by Indian scientists ?
(A) g/Durga
(B) &&HT/Laxmi
(C) UTdN/Parwati
(D) R/ Saraswati
[UPSSSC TR e—3iffe=ic W, aie
e fafer : 28-07-2019]
1. (D) YR SaReT Il & T &l =
(FUREFEER) 14 JeTTg 2017 BT @I
T ARAY IR 7 S AR
- fem & |
2. S-RHERY & Rigrd & @l &l
yfure s & fohae fear?
(A) =geA (B) s
(C) SiMSlee (D) $eR
[UPSSSC 3R ¥l gy,
e ey : 14-08-2016]
2. (B) 3N 7 o Rigra faam e
RTIP MFAR ST 3 ST IR Tt
TG P IR H TG B arell B
T P &R &N T /e B 9R
% INTEX B B |
3. TR fiRa gu favel & frgr & @
o= &7
(A) BT
(B) reiferar
(C) =ifdw
(D) SeTEE TS
[UPSSSC 3RTM ¥t ueT,
e ey : 14-08-2016]
3. (B) refiferar 7 |

4. 3T B ST BT S TRy ST ® ?
Who is credited with the discovery of
Electron ?

(A) §."MesTA/E. Goldstein

(B) 1.9V, & /1], Thompson

(C) o= gsfdd/James Chadwick
(D) X&x®rs/Rutherford

[UPSSSC @I3R 1T it g, 2017,

15-7-2018]
4. (B) SoTagE Bl @ISl o O . AR = Bl
o
T Bl Grordhdt
e Mo (AMEH
REXBTS §RI)
=g ORI TSfdd
Trofier 1. 9. yusaT
GlIRica GBS

5. G (Teb DUT ST GRATY] b IHb Bl
37T ) Bl @I foreae &t ?
Who discovered neutron, one of the
constituent particles of nucleus of an
atom ?
(A) %<9 3gd/Madam Curie
(B) &®IS/Rutherford
(C) oW1 Tsfdds/James Chadwick
(D) #a¥ =fd/Max Planck
[UPSSSC =3 11 #<it 9, 2018,
15-7-2018]
5. (C) IS & TIeT o Tfad -1 o1 o |
A% oy I=fa® &1 1935 #§ Wifiw
e &1 Age REBR &g |
I P ST, DT Ruaex g
DR S H AR IS BT s
¥ o = B



ST

T Td T

2 (Square-Root and Cube-Root)

1. fF=feRaa @1 & T -

Solve the following :

6 1,

81 9
4 5
) 5 ®) 5

1 2

© 3 ®) 3
[UPSSSC TR (He—3iff$se) 1. uden
(f&<ra urett), 1-10-2019]

36 l_?
1. (B) g—g— !
6

1 5

9 9 9

2. frafafead w=rel 4 4 $H-0 g&=

e ol o T ¥ ?
Out the following numbers, which one is
not a perfect square ?
(A) 3136
(B) 12544
(©) 129
(D) 28832
[UPSSSC wI3R (He—3iff$se) 1. uden
(werH Tedl), 30-9-2019]

2. (D) 28832 & QUi a7 AT &l &

3. v ol o 4, A T BT oie 4 BT B,
Al 9D T H 3PS DT D fba
g
In a perfect square, if the unit's digit is 4,
then the unit's digit in its square root is :
(A) 8
B) 2
(C) 2u18/20r8
(D) T 2 3R T & 8/neither nor 8
[UPSSSC wI3R We—3iff$-e ur. e,

28-7-2019]

3.(C) afe A w1 & aifHet § bl Bl

37 231 § &1, AN 9 a1 H 3HIE B
3 4 B |
4. TP X AT B T U8 72 9IR 47 & SR
F THA S TRIER &1 TF SR F=1 B T

& ¥ 59 & 37 $R 123 I & TR
T A3 B S AT &1 a9 a7 BT ?
One number A is such that it is equal
to the square root of the difference of 72
and 47. Another number B is such that the
square of it is the sum of 37 and 12. The
square of the sum of A and B is :

(A) 144 (B) 169
(C) 195 (D) 224
[UPSSSC sTeiay areias (Sgadet
JATRER ) TRAET, 12-1-2019]
4. (A) YN,
A= 712-47
A=25=5
SIN B = \37+12
B = 49-7
(A+B)? =(5+7)
=(12)2 =144

5. J0.8 1 AIF &1 BN ?

Find the value of /(.8 (correct to 3

decimal places).

(A) 0.964 (B) 0.694

(C) 0.984 (D) 0.894
[UPSSSC fdari <e 3iftrarY (|mm=

T W} TR (9o uTell ), 16-9-2018]

.8%x100 80
5.(D) yo.8 = \/ 00 \/ﬁ
8.94

=70 =08%
a1 fafer 1,
8.94
8 80
8 64
169 | 1600
9 | 1521
1784 | 7900
4 | 7136
764
8.94
§d: = —— =0.894

1

6. 16641 1 1 ¥ &1 BT ?
What is the square root of 16641 ?
(A) 119 (B) 121
(©) 129 (D) 131
[UPSSSC famra ga siftre) (|rT=a
=g ) Wt aRve (fg< urel), 16-9-2018]
6. (C) v fafyr =,
129
16641

i
22| x66
2| 44
249 | 2241
9| 2241

XX XX

3d: 16641 P T = 129

7. 248 ++/52 ++/144 =?

—

(A) 14 (B) 16

(C) 16.6 (D) 1838
[UPSSSC ~1ora et aviet,
17-7-2016]

7. (B) /248 ++/52 + /144
= 248 +52+12

(- V144 =12)
= y248++/64 (- \J64 =8)
= V248+8
= J256
=16

8. 930.25 % e | BTN FIH Bl
=1 T WY Ry ot g U
ol e e ?

1 4
(A) 5 ®B) 3
2
© 3 @) 5

[UPSSSC RoRA i @uTel
Wt R1ET (WerH uTel ), 13-9-2015]
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8.(D) 930.25 T gl = 30.5

30.5 1 U qUl WA S D
forw -5 Her < 99 SR 30

3T |
9. \/15612+\/154+\/ﬁ B2
s
(A) 115 (B) 125
() 9 (D) 111

[UPSSSC oA oi@yTel
Wit aer (fa<i arel ), 13-9-2015]

9.(B) \/15612+\/154+«/225
156124+ /1541 15 = /15612 + /169

V15612 +13 =+/15625 =125

10. R 11/, =112 +~/343, 1 n &l

HE T BRI ?

If 11/, =112 +/343 , then the

value ofnis:
(A) 11 (B) 13
© 7 D) 3
[UPSSSC @R II +il ude, 15-7-2018]

10. (©) 11n =112+343
T OR% T DR TR,

(11\/2)2 - (V2 +M)2

121n = 112 + 343 + 2 /112 -
/343
121n =455+2 \|7x16x 7 x 49

121n=455+2%x7x4x7

121n = 455 + 392

121n =847

Soon=T7

11. 16800 ¥ | FATH D—I G=AT TS
ST % 98 T gl a9 o We?

The least number to be subtracted
from 16,800 to make it a perfect

U

R R

square is :
(A) 169 (B) 219
(C) 159 (D) 249
[UPSSSC <lter 11 +eft wdter,
15-7-2018]
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11. (C) 129

116800 (a7 fafer <)
+1 |1
22 (068
+2 | 44
249 | 2400
2241
159
3d: 16800 ¥ 159 e TR Yo

T 9T BN |
12. TH AN 17956 US $9 YBR €T &
5 U<l &1 S+ & uferat &, e &
TH U # Ug | UF ufed § U=l @

=T 5—
(A) 136 (B) 134
(C) 144 (D) 154
[UPSSSC 1SR 1N it udterm,
6-3-2016]
12. (B) ¥ USi o UfRial & 68T x
T
: xxx=17956
x= 17956
x=134

13. (8+2V5) @ et Arm—
@) (V5+2) @) (V3+2)
© (V5+43) () (23+5V5)

[UPSSSC R I Wil gtetm,
6-3-2016]

13. (C) \8+2415
= J(V5) +(4B) +2x5 x5

(a+b)* = a* + b* + 2ab, | Je Tl
R TR,

(V5+-3) = 5+ |3
14. YHTE & &M W DRI = 8 7

What is the number in place of the

interrogation marks ?

2/19=76/?
(A) 34 (B) 19
(C)47 (D) 38
[UPSSSC SffvrR Sotifer=/ad=rat it

TRET, 27-12-2015]

276
19 2
(7?=19 x 76
= 1444
?=.1444 =38
15. U% AfFT 7 310 IR § 2025 WY 34
YHR MG 5 yd% ufed & el A
H&T gl Uil b SRIER B T8 | 1T
A g Ufdal & w2 8 ?
(A) 202.5 (B) 95
(C) 65 (D) 45
[UPSSSC uRarerd (wedex) it ge,
23-8-2015]
15. (D) 7T # o1 UfRTAT <1 ==

= ~2025
= /3x3x3x3x5x%x5

=45
16. —2,-1,0, 1,2 ¥ 991 & IRT T &1 &
ANT T U BT—
(A) 0 (B) 5/9
(C) 9/5 (D) &Fa
[UPSSSC 311 il udtetr, 14-8-2016]
16. (D) —2,-1,0, 1,2 % Y& &1 a7
=(4,1,0,1,4)
TS B 89 = (-8, -1, 0, 1, 8)

I AT 4+1+0+1+4
T B AT —8—1+0+1+8
10
)
= 00 (31)

17. 98 BId-J4-vId w1 54 512 9 Jon
P TR U< OB T gl B 2, —
(A) 8 B) 9
(©) 10 (D) 7

[UPSSSC IoRa orEdTel
w1eit aYen (fa<ira uTedt), 13-9-2015]
17. (A) 512 &3 & O] B9 6= ©
STt Be 8 B o fddey 4
5129 8 1 N BT 9R A gul
B T B, T SRR faepey @
O A TR 8 |

18. 3/0.000125 1 # &—
The value of 3/0.000125 is:

14. (D)

(A) 0.005 (B) 0.05
(©) 0.5 (D) 0.0005
[UPSSSC SRR Solif~RR/ad-ia

Wit URIET, 31-7-2016]
18. (B) /0.000125

s s
1000000 ~ 100




19, | -T2

" V196 56
(A) 212 (B) 324
(C) 14 (D) 18

[UPSSSC (PET) Y2/ UTel,

AT &l Bl 9 BRA R,
x 8l
196 49
_ 8Ix196
T4 T

24-08-2021] 36.1
102.4

2722

19.®) s “56°7 "
[x 9
19 7 ©

29

19
72

(B)

(D)

19
32

29
32

[UPSSSC (PET) f&<ia aref,
24-08-2021]

36.1
20. (B) 1024

~ [361
-~ V1024

7\/ 19x19
2X2X2X2X2X2X2X2X2X2

19 19

T 2x2x2x2x2 32
Qo
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1

. TNy’ BT A Af—faweg ¥—
(A) g2+ Sfed (B) Je + 9 + fad
(C) e + 3fyd (D) Ter + Nfad
[UPSSSC JfaR iRvce weil wlien
(v dTelt), 24-12-2019]
. (C) g o o &y B o Ay #
F, AP AN, T8, ATIS, 5,
B A S TUT K B A SN B SCr
HERURIEER IR PIE i)
af-faegg— gorr + S g & |
. “fendt’ @ w8 df-faees ¥—
(A) fag@n + e (B) fagam + a7t
(C) faga + et (D) fagam + amef
[UPSSSC SR 3rfiece il udten
(92 UTell ), 24-12-2019]
. (B) faenelt # <€ w@R WY ¥ 9l g%
I e, 3, S D 9K AR g AT
e o1, 3, S, 37 ¢ 1 <M1 Fetan)
el o, ¥ @R % & O 1O (S

+ 3 = 3Mm)
faem + et = faemeit
. e’ & w8 afy-faws -
(A) 71 + faw (B) 7 + fa®
(C) 1 + 5% (D) ¥ + 3nfaw
[UPSSSC SR 3rfiece il udten

(92 UTell ), 24-12-2019]
. (C) 'fa®’ vreg Srfe Ay BT SaTERT
BISTEI T, T SR e, ol & uX o
M R D B IR HH: 3, I, 37
3R 3179 &1 I B 1 g9 st <ty
PHed o | HIfde’ B |ty faees A1 +
3% BT B
. "IER’ BT TEl Af—fwog §—
(A) & + 8@ + BR (B) =T + R
(C) & + TR (D) & + T + R
[UPSSSC SR arfice il udten
(92 UTell ), 24-12-2019]
. (A) ‘IIER’ T H IUT WR A B
g, S B AN BIS AWK (SFHH) WY
AR SH I AITMEIT, & D
M P o R @ 3N WX S,
$ BT B WM B H D SR B
TSI ¥R & &M UR % &1 ‘3’ 8 Sirdl

298 | AGRAWAL =XAMCART

At

T | 375 IUT Y Ped & | FGER Bl e
faeog —fa+-3ra+eR BT & |

. A B T8 Af—fawwe v—

(A)N@ + 99 (B) 9T + 99

(C) ¥ + Im@gE (D) 9 + 3(ge=
[UPSSSC Sff-ax 3rfce il udten
(wer uTelt), 24-12-2019]

. (D) ‘\EgE’ # A" wR G T g

oA 4Y T, 3, 8, kW W IR
HHT: T& q01 &, A1 ST B T TR
Th <IE qUT B STl & | e bl
ey foews F-+rqem B & |

. HEN @1 |el Ae-fawes -

(A) & + %W (B) HEM + EW

(C) ¥& + =W (D) H& + H
[UPSSSC TR RR<e well udien
(92 uTelt), 24-12-2019]

. (C) ‘& wrex T TR |y B 3EH

FABIANE T, WIS, S
31, i, T 0T B, AN SR B AT
T 13 U1 T&R Y Fed © | R @
af-fos 7e+#f 5|

. e & 98 Afy-fawse 5—

(A) 7 + T (B) F=1 + 7@
© FE+za (D) + s
[UPSSSC SR e Wil uten

(W uTelt), 24-12-2019]

. (A) ‘Treger wsg 7 fot ey 8 | ot &

1T fohRil @R 31T o & AN
3 I IR o et |fYy waa & |
“Fregrar’ &1 Gty faee 4= B
Tl

. AgH P e Al 5

(A) 9 + & (B) 9% + are
(C) | +gH (D) & + &+
[UPSSSC R JRR<e well udien

(wor uTelt), 24-12-2019]

. (D) ‘g’ Ireg § o Wl | SoT b

o | T TRl W) | Aot B
TR Sl GRac BT 8, S hor |fer
Ped & | TgH T BT AT
|q + g B B

9.

10.

10.

11.

11.

12.

12.

Tues—I11 : 9= f&=<t

e @ W R ¥

(A) g + S (B) 9 + Sfaa
(C) T + 3 (D) q + ferd
[UPSSSC TR iR weit alien

(faira arelY), 24-12-2019]

. (A) ‘g’ I TR | BT SR 5 |

R & TR el 9 o faer ar
R BT &, SN R i Bed
TR G S UE 98 B B g |
el R |t ¥ | g At e (S
+3=9) Y + Sfdd = gfex

B AT EYE 37, g, S B 98 IR g
7 &, o7, 3, S 1 WY @ S
e g e, g, RS A S B

"R BT HE AT B

(A) TR + T (B) W+
(C) T + X (D) TR + S9
[UPSSSC SR 3rfece weil uten

(fa<ira 9reY), 24-12-2019]
(D) ‘7R W= H 0T A T I o, o
P IAME, S, BAT, S, S el ar s,
T % B AT SR B 9T 8 | 39 O
|y Fad B
(3T + 3 =T) T + T =
ada’ 1 Fe AY-fIweT T

(A) 9o + Ta (B) T + Td
(C) a¥ + g (D) T + 39
[UPSSSC Sff-ax 3rfece i<l udten

(f&<ira urelY), 24-12-2019]
(A) ‘T’ Treg | g wa= | B | et
ey foews (3 + T =7T) g2 + g
=qdq
TR BT el |fy—fIweT &
(A) IfRT + IR (B) o + AR
(C) I + MR (D) 1A + AR
[UPSSSC Sff-aR 3rfece il udten
(f&<ira arelY), 24-12-2019]
(C) 'SR’ & Ay e (3 + 8on
=3 + 3N 3 + AER = AAER
JUMER TE | IUT Y & | gOT
AfS—5%a AT N 3, S, D I
I PIS ST ¥R ST Bl A S



AUAT § B TG A, S INAA H B
901 9, % & 9qel X 8 Ol 81 39
JoT |AfY FEd & |
13. A% &1 w8 Afe-fwss &
(A) A +3F  (B) I+ 3B
(C) 71 + faw (D) &l + &
[UPSSSC SR 3rfice il udten
(fa<fra urelY), 24-12-2019]
13. (B) ‘"Ifde’ e ¥ Smnf ey ¥ | Aifds
o1 |f—fees (3 + 3 =M + 3)
A + 3P =D
14. Soolael’ BT TE Af—fawog §
(A) ST+ (B) S + 9
(C) S +3aa (D) S + w9
[UPSSSC SR 3rfice il udten
(fa<tra Trel), 24-12-2019]
14. (A) SIS B oM AYAT WX & A1
AN ¥ SO eR <gog |fy
P 8 | (T + S =)
I + 9 = Soulad
15. ‘fameR’ o1 \e AfY-fa=es ¢ -
(A) f&m + sFaR - (B) faT + a=R
(C) f&® + =R (D) o + am”
[UPSSSC Sff-aR 3rfice il udten
(fe<ira Trel), 24-12-2019]
15. (D) ‘feTmeR’ oreg H oI Wiy & | gt
|iYy—fawog e + oFar = famear
16. 'Scoted’ BT A8 Af-faws ¥ -

(A) ST+ e (B) S + A=A
(C) S& +eeq (D) S + &ed
[UPSSSC TR iRRce el udien

(f&<ira Trel), 24-12-2019]
16. (B) ‘ScoleM’ W6k H ol e & | T
|ig—faews Iq + Ao = Seered
B SR (R, T T A DD IRA
ITH AR AN (B, T, T, T, ) NG I
@ T qU § 981 9 & O S +
|fr ==
17. 'S&R’ &1 Afa—faeos @ amm ?
(A) S+ (B) S+
O F+ D) |+
[UPSSSC TI3R (He—3iifEne) . uem
(W™ Ut ), 1-10-2019]
17. (C) § : + ' 92 |fY faewe &, RAfF
%o ul # e &1 9’ 2B o B
SRI—7: + BR = AR, HT: + IX
= RN, T + BR = IR |

18. ‘U + 3’ fpd TR AfY o7 SaTERT © ?

(A) o1 (B) st
(©) gfg (D) Tor

[UPSSSC <I3R (He—3iifee ) ur. uem

(f&<r urel), 1-10-2019]

18. (B) ‘O + 379 = (4T9) 3T TR Al &l

SITERUT & | ORI— &7 + 31 = $fqur, =1

+ I =T, UT + 3% =g, 3N |

19. @R Gty fhay YR & B ® ?

(A) = (B) =
(C) WX (D) g
[UPSSSC i8R Ha—3MTfSe 1. giem,

28-7-2019]
19. (D) & Nf¥ & Ul YPR B &—ald wfey,
Sifer | a1 e (D) T B
20. ' 3irse’ 1 <Y faese Bm—

(A) I+ (B) AN + 3%

(C) ot +§re (D) ¥ + g
[UPSSSC =11 Uiderds Wil aRie,
31-7-2019]

20. (D) TE AT S &, 3, S D I8 i g I
<X 37, F, S 87 SN A1 I FHABR
e e, IR & O & |
SRI—3nIee I1eg H <Y wax Wi B
3D Wl fowog &—
T +3 =3 =3 + 3¢ = A
21. ‘&S o1 Afy-fawes Bmm—

(A) 78I + &5 (B) & +¥%

(C) & + ¥ (D) I8 + ¥
[UPSSSC IR it gien (Ve uretl ),
10-3-2019]

21. (A) ‘He=' 1\l faees 9ot + 3w Brm |
T I §—31 +3 =T | Hevg v
H U7 | B
22. ‘EER’ HT A8 Af-fiens P
(A) |7 +3R (B) ¥ +&R
(C) 99 +3R (D) &7 +&R
[UPSSSC TSR it gt (WA uretl ),
10-3-2019]
22. (D) ¥eR’ & GfU—faeog 99 + R B |
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(D) fa®eg (D) T + SUBR WY fowos
P TAT SAERY 8| TRIGBR B
wE Y fawe] B-—WR + SUBR |
RIYBR & A 0T A6 B | I
M 6T P T H &I 37T G
‘o' B 3R TR IR B M 7 g
JUAM AL 3, S, T H A BIg 0T &
A—3 +3 =T, M+ =2, & +
% = 3R 8 9 |
IgETEA BT Y faewe & -
(A)Sg+ et (B) Sq + EeT
(C) S + = (D) = + =T
[STR W et gden oIt areR,
HRIRHA G SaN (37ReT)
(2 UTelt) 19.12.2020]
(B) ‘SHTe”’ &1 |fYy foess 2m—sq +
oI | 'IHEA’ W& H o Wiy
BT | o ey (B) 98 81
TG § G-I BT AR &
W akgdfr B) rE
(C) ToT &y (D) <&l &y
[STR v gfers wdien oid ey,
HRIRHT G S9aN (37Rel)
(W dTelt) 19.12.2020]
(C) "vAF’ TIex H JuT’ |l BT | ' qAD
o1 Y fees 35— + e =7 |
B U AE 3,3, ® P IS Bl
¥ TR ST T A g S1yar § F Iaed
', S JYAT S B Y TAE BT
B T ¥ 1 3 fdeT (C) T8 ¥
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T

2

1. 7 9% FE—<98 A | a1 5 iR
¥ W . AR T ST & | T I
fafga &= |
Three of the following four letter-clus-

ters are alike in a certain way and one is
different. Pick the odd one out.

(A) CHSX (B) IKPR
(C) DIQW (D) AFWZ
[UPSSSC Teev sifa¥ey Wl wdie,
10-1-2020
1. (D) fwdre aof feudrg auf
[ 3 [ ¥
CHS X I KPR
1+ 1 1
fadra aof famdiy aof

g g faude auf =41 &
¥

Fae a0

ol Y

faera aof

W
/I\

F &l faodid avf U ¥ e/ AFWZ
= I | I B
2. 39 9N fdaedl § @ 49 f&d g &
TAN & S UF I T ST B
Tafea 9|
Three of the following four options are

alike in a certain way and one is differ-
ent.

Pick the odd one out.

(A) (B)

<) D)

[UPSSSC Tagex aifqvey il a¥er,
10-1-2020|

2. (C) fawedi 7 & T STRRTE sl
EIR SRR EC
(g1 4 wwAT? + (Sl A wE)?
= (T | He=)
fa@meT (A)H,
M+ ()2 =(16+1)=17

396 | AGRAWAL =XAMCART

AT T&ToT

(Classification)

ot @), 4. (B) Ry Wy @i A e W ey |
(32+(22=(9+ =13 $ :;[ S\TQGi(ﬂq%%;ﬁm
fymea (), S ¥ | g A e R E
(52 + ()2 =(25+16)=41 # 34 voror ¢ T vk
faeey (D) H, l l« l ‘J’ ‘l' ‘l’ l

(5E+{2=(25+1)=26
3 faeeed (0) e 91 & iy &1
3.3 9% fdoewi § 9 95 &0 weR 9
I ¥, R UF SRT K| N @
fafga |
Three of the following four options are

alike in a certain way and one is differ-
ent. Pick the odd one out.

(4) @ (B)
42 31 @
(© @ (D) @
30 45 @

[UPSSSC e sifa¥e il o,

10-1-2020|

3. fawer (O A & ¥ sy

AERET A T 921 g9 q & TS

e wevs A & g weurel 9

fasmog &, wafe s AT faeed

W g 0w v g ¥ A

& % | 3 e (C) &g IFT 9
first %1

4. bfg 1 fay 10 5999 W TN T 9w

H T O § IR TF e 5| i S
=TT |
Five colours have been given, out of

which four are alike in some manner and
one is different.

Select the odd one.

Green, Indigo, Pink, Orange, Yellow
(A) AR/Orange  (B) W/Pink
(C) ®/Green (D) 9rem/ Yellow

[UPsssc SifaR sifaede vl ula,
(werA TER—9=) 24-12-2019 (92H 9Tl )|

Violet Indigo Blue Green Yellow Orange Red
(&) ({ET (fem) (&  (dem) (@) ()

)
o T T A
5. dig fawg fau we ¥, T8 9 =R faed
TRE | 99 & SR T el
el B T P
Hifadl, weme fasm, e, gy
fasm, < fasm
Five subjects have been given, out of

which four are alike in some manner and
one is different.

Select the odd one
Physics, Chemistry, Geography, Botany,
Zoology

(A) T9wfd fasT=/Botany

(B) wH®H fasim/Chemistry

() #ifie 99M/Physics

(D) ’T‘ﬁ?l/Geography

[UPssSC iR sifaege it adieT,
(9o weR—u=) 24-12-2019 (9a= rel )|

5. (D) Tl 9 BSHR o7 Al Rwg
fas= & & &, Smfe e wer
ot %1 AWy ¥

6. Ui wieg fav v E, 9 W 9w

e ¥ T o ¥ &R v fire R
=1 798 &1 759 = |

Five words have been given, out of which

four are alike in some manner and one is
different.

Canoe, Dinghy, Igloo, Raft, Yacht

(A) S9I/Raft (B) emaigloo
(C) SCance (D) SMVDinghy
[UPsssC iR aifrde el 9,

(v yeE-u=) 24-12-2019 (VA UTeN )|



6. (B) ¥=1, 3=, ST I el & weR
&, 9l ool | gefell &, wefd fiwagd
(Igloo) % &1 TT BN ¥ e
TBES o AE § A 8|

7. o9 TR fiv e ¥ R 9 A
TNE W UF ¥ & 3R Uh a1a & | 9
T qIT BN
Taedl fAgm
Five words have been given, out of which
four are alike in some manner and one is
different.

Select the odd one.
Cliffs, Lapies, Stalactites, Sinkholes,
Stalagmites

(A) SR FET (FeeraergT)/ Stalactites
(B) Tredl Mea/Stalagmites
(C) U/ Lapies
(D) @rél agm/Cliffs
[upsssc sifae sfde wel we,
{Herd We9—93) 24-12-2019 {92 q1e )|

7. (D) Toerdt e, amRrel e qen enfiar
Yl Ueelk alel 4oEl ¥ #uEy vd
g9 @ g9 arell sefaar #,
el W doar AT B 3N
A T A1 TP €1 IR wS
Fge & A W i €

8. dig wree faw aw ¥, 5 @ A fod

TE | TF oW E AR UH o7 B
T B AT B
Five words have been given, out of which

four are alike in some manner and one is
different.

Select the odd one.

FeqT, STEIRRm, WwETe, WA
(i), areeERE

Semicircle, Semicolon, Semifinal,
Serminar, Semitone

(A) STERaTH Semitone
(B) oTdad/Semicircle
(C) THFIR (|ASY Serminar
(D) Teifa~m™/Semicolon
[UPsssC wifraw sifimde weif wle,
(W Y9 ) 24-12-2019 (W UTeN )|
8. (C) AN (FAn) 1 Bred] oy 9+
QoT 1 &1 M TR R &, STefh
AR (W) 7% i ¥
3rera

FHR P BT 67 A1 1 gl
{(31E) T BoM 9 9F Y 9]
S B
9, TR W= & R &, T | a9 B
TE | TF o & o uE e B S
Tl bl g @Y ol a9 e
Four numbers have been given, out of
which three are alike in some manner and

one is different. Select the number that is
different from the rest.

720,120,24,8,2,1,1

(A) 24 (B) 8
(© 2 (D) 120
[UPssSC SR sife W=l ¥,

(w2 We-9) 24-12-2019 (929 9Tl )|
9. (B) & ¥ =N F e IS frEq

2
6
720 120 24 2 1 1
I |
1 1 1 1 1 1
X % X 3 X T X £l X 5l X T

I =T 8 A &, THS W UY
EET 6 RAT |
10. < ufg wes foy &, foAd @ 9
- TR ¥ TE w9 § @i
T T i B

Five words have been given, out of which
four are alike is some manner and one is
different.

=1 = 999 WY
Select the odd one.
IUIE, IR1, G4, gedl, gEiS
Satellite, Star, Sun, Earth, Universe
(A) 98g/Universe  (B)
Yedi/Earth
(C) SWre/Satellite (D) TR/ Star
[UPSSSC wfaR sifawde Wl o,
fa<ira utell, 24-12-2019)
10. (A) Su¥e, 1, 2 920 y2d1 |l gans
T B UM 2| i fE gEvs
TaTfetE, AR, e STwEl &Y
afreprey fAuel 9 feAdy a1 gaim
¥ & gEws e w9 ¥ fir
1. 7E uw T faw M oE, A o9 oA
Rl YR ¥ UE wHE 3l
TH T i 8

Five words have been given, out of which
four are alike in some manner and one is
different.

11.

12.

12.

13.

=1 & 99 F9 |
Select the odd one.

Mangoose, Beaver, Porcupine, Rat,
Guinea Pig

(A) eI/ Beaver
(B) T fi71/Guinea pig
(C) ~Taer/Mongoose
(D) 9&1/Rat
[UPsssC SR aifde el 9,
&< e, 24-12-2019]
(C) 7aeT B BISH AT TH FAD
(Rodents) TRAR & Fawy B e
“raer 5 A ¥ i g
wg dfa weg fav v ¥ foad @ 9
T Tt vor 9 TE 99 E @R
T 3 T g

Five words have been given, out of which
four are alike in some manner and one is
different.

=1 & T+

Select the odd one.

Dollar, Cortes, Dirham, Lempira,
Taka

(A) ®IEd/Cortes
(B) =ffa=1/Lempira
(C) Efew/Dollar
(D) <dl/Taka
[UPSSSC wfr sifiede wwif adem,
&< urett, 24-12-2019]

(A) BICH' & BISHY o |9 90 47
Hald &1

T <9
A — AW, aieefern,
ST &1 |

faven — wygen s SN
<lffR1 — &i7gx¥ (Honduras),
M (Panama), gaT (Haiti) a7 |
WafE ‘BT T A 9 B g
T
= ufg o fay v R, e 9 AR
fEf—=-frdl vor & & 99 E i)
Tk 3 T

Five words have been given, out of which
four are alike in some manner and one is
different.

=1 &1 =9 AR
Select the odd one.
Afqafas, SRE-varE, To®i,

BIETRECIOT, ST
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Cataract, Cellulities, Glaucoma,
Hypermetropia, Trachoma

(A) EEUGIAT/Hypermetropia
(B) &1/ Trachoma
(C) wfcarids /TejeH1/ Cataract/

16. = <1 T8 3 A WA awepfor’ AfEfer

¥ R o Svgfe (@) ¥
g, =Ar4, ielr, foss, fefas, o=

The list given below contains figures
which have something in common.

(C) TR/ Pear
(D) 3FN/Pomegranate

[UPSSSC wier (wa—aifdse) ur. adem,

fe<ira urelt, 1-10-2019|

18. (A) ARSI P BIEHY a0 T4 Al

Glaucoma Cylinder, Cuboid, Sphere, Prism, Pyra- 4 S| arm: ~ .
(D) rie-Tam/ Cellulities mid, Cube WE %Tm SeT: WAl E
[upssscC wfrae sfide Wit wliem, A fqu v fawed # W, 99 fowey & 19, Frefofin wredi & i & forey g
o wreh, 24-12-2019 e B R 3 G S AT ® w0 A ot = o - i
13. (D) ‘Il yaE’ @ Bgsx g G fiiga fema <7 Hee 51

14.

14.

15.

= 9§ Hefam dmet €, wafe
FIETHT-USE DIRTEIS H &R &
hIRUT B 9l SHRT B
&l th W Ry B fE 9 ER
Fr—-fr il TR 9 T 9F ¥ SR
T g T E

Five words have been given, out of which
four are alike in some manner and one is
different.

=1 =1 759 H|
Select the odd one.

H, T, B, TP, 7eT
Ear, Leg, Heart, Kidney, Hand

From the below given options, identify
the one that can be classified as part of
this list.

(A) FTagY@/Rhombus

(B) ¥/Cone

(C) TVSquare

(D) Wﬂ@ﬂﬁ/ Parallelogram

[UPSSSC eR (Wa—siféae) wi. udtem,

WA qlell, 1-10-2019]

16. (B) w¥l sugpfai Biffia snefaai €1

w9 v PR el ¥ e
fadeT (B) AR B

17. Fr=feriaa s smephrdl # 9§ firsT

SUan, R, siw-feun, g,
SR

Identify the odd one from the given list :
Ignore, Avoid, Recognise, Project, Ne-
glect, Overlook, Over Pass Forget, Dis-
regard.

(A) TEdrT/Recognise
(B) &=/ Overlook
(C) STE—four/ Overpass
(D) @ragerr Disregard

[UPSSSC wier (Wa—aiifS=e) ur. uder,

e Yrell, 30-9-2019]

(A) </Leg (B) WT/Ear P A yga HRAY 19, (4) Wl eredl 3 S e
(Cy T=d/Heart (D) @/Hand Find the odd one out of the below 20~ T _W‘S_Cﬁ @ g 0 Y i we
[UPSSSC ;ﬂ%ﬁ;ﬂ sfee w3t gden geometrical shapes : @ T By

&< rett, 24-12-2019]
(C) T, T T Y IRR & e
Torardiier w1 2, wafd ‘gea” TR
0 I EC R T i ) M
INT H Y o HIY B £
fawm e & gEAE # |
Identify the odd word :
9, B, wHEge, Mer, garay
TYH, A, A, TALA, SC@IT

s, B, @, vor wgye.
HU, GHE agYdl

Rhombus, Triangle, Square,
Parallelogram, Rectangle, Trapezium

(A) WO Yw/Rhombus

(B) T34t/ Triangle

(C) FARR TgY1/Parallel ogram
(D) FFerd g/ Trapezium

[UPSSSC e (wa—3ifese) w1, v,

&< urelt, 1-10-2019)

YR, S, WHeHY, Ba<yR, 879,
Identify the odd one from the given list.
Jaipur, Jodhpur, Jaisalmer, Chhatarpur,
Ajmer, Bikaner, Chittorgarh, Kota, Sikar,
Pushkar.

(A) Gﬁﬂg’\f/]odhpur

(B) wa¥y¥/Chhatarpur
(C) Te=irgg/Chittorgarh
(D) gsh¥/Pushkar

[UPsssC @isR (Wa—aifféae) wn. uder,
e Yrell, 30-9-2019]

20. (B) &YX bl BISHY Ihl w4l Hey
TR F IS SN E | 3 BN

Square, Triangle, Rhombus, Sphere, Par-
allelogram, Rectangle, Circle, Pentagon,
Hexagon

(A) TS/ Triangle

17. (B) Ty @l Biesx gl |l warfad
Rl # AR gemd 2)7 €, 99
i W 99 o 8k E1

18. ffeifas M el 4 9 ST Al

{(B) Te/Sphere A Hom TH & B
(C) gi/Circle Find the odd one out from the below 21, frtfarfad & & emTe w= 31 TIT
(D) TSIE\‘cﬁITJT/Hexagon group of names. sy
[UPSSSC ieR (wa—aiifE=e) w1, e, IS, ARG, A1, ¥, B, 37, Choose the odd one out :
T T, 1-10-2019] TR, R (A) DVW (B) GST
15. (B) rem Farfad e.ﬂ@‘ﬁ[ T SfE Se Guava, Watermelon, Lettuce, Apple, () IPQ (D) MNK

Kiwi, Mango, Pear, Pomegranate
(A) HeE—9=/Lettuce
(B) =R/ Kiwi

w4 gt sroier &1 o/ fawe
(B) 399 &1er & |

[UPSSSC @iier (we—aiffde) ur. o,
WeH UTell, 30-9-2019|
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21. (D) fag3g aof A aof
I v | v
D V W G S T
|t Lt
+1 +1
fagdg avf
J P Q M N K
N Y I
+1 e =2
guf

a1 MNK g9 3~ 21

22. Wi P At A # 9 v @
T BT |
Find the odd one out of the below list of
colours.

Orange, Violet, Brown, Red, Green,
Indigo, Yellow:.

(A) AR Orange  (B) *XT/Brown
{C) ®/Green (D) e/ Indigo
[UPsssC dieR (wa—aiféae) w. o,

&< amedt, 30-9-2019)
22. (B) R &I ©Igd bl A9 gy
F T E, TAP R T SHE e
Bl
23, fefeiag sl = g & feiRa =¥
o5 0 W H BT ST ¥ ?
Read the following terms and decide
which one does not fit in the group.
3T, TRER, 1, YR, 9 e
TgAF, FUAA
Average, Range, Mean, Variance, Stan-
dard Deviation, Mode, Refraction
{A) A=/ Mean
(B) RN/ Variance
(C) dger®/Mode
(D) 3MaeH/Refraction
[UPsssC dieR (wa—aiff&ae) wi. o,
&< amedt, 30-9-2019)
23. (D) S99 bl By drehl A9 Wi
H wElE TR E, 9afF sTuEd
Ao § Thee g

24, frefefiaa & @ axfa & wmd PRI
Choose the odd one out :
{A) USB (B) PCU
(C) DAD (D) RTO
[UPSSSC iR (wa—aiffé&ae) wi. e,
e aret, 30-9-2019)

24. (C) 91f% T & wY o W B E
et fa@med () 7w 7eg 7 foar
& ¥ e (C) 31 3 &1
25, el | & aTe @ 99 B |
Choose the odd one out :
(A) 9@U/Earthquakes
(B) SETETRIEI/ Volcanoes
(C) YA/ Tsunami
(D) fozzeardl auzw gfg (AT
HifET)/Global Warming
[UPsssC iR (we—3iifé&ae) w. v,
fe<ira uredt, 30-9-2019|
25. (D) @9, SATAFE qa1 gAM S
T Y B arel fma ¥ S
Tellga aiffT ge srer |
26. FTRIRET OI1 1 9 U O BIS®Y 91l
| A = fdl wepe W & Sl wE
TR B | -1 7eE 39 e 9 Ffad
T 7
FA-R, O, TERiT Feead, e,
EUIC IR
All of the following except one are alike
in a certain way and so form a group.

Which is the one that does NOT belong
to that group?

Apartment, Bungalow, Castle, Cottage,
Mansion, Kennel, Hut, Housing
complex, Flat, Duplex

(A) fBa/Castle
(B) ®WioT ASM/Cottage
(C) Fr—aw/Kennel
(D) SR BiFerd/Housing complex
[UPSSSC =1 wideras il e,
31-7-2019]
26. (C) ‘T O’ P BTN = TH 71
@ B @ W 5, S BeEn’ §
e FN Ve & | 3 EEER Y
wE e ¥

e (e W= 27 W 28 & o)
far T fddwett § ¥ 99 fawew v Fftaa
TG § T &, B UF fowea o 9
@ INE T8 & | 99 fwey = wug &=, 9
S 9 & ¥

Out of the given options, three are simillar in

a certain manner. However, one option is
NOT like the other three. Select the option
which is different from the rest.

27. (A) UST (B) QMO
(C) LHJ (D) IEG
[UPSSSC T pf Ieures el uReg
(wgEa G ) (9 Tl ), 30-5-2019]

04 2 o o

—4 +2
Q—=s M—=50

LN e

-4 +2
I—> E—=3G

& UST 394 it &1

28. (A) 9% Goat  (B) faeeily Cat
(9] T‘ﬁ/ Hen (D) g/ Cow
[UPssSC =1 $f Searest 71 aReg

(agaa wat) (W arert ), 30-5-2019)
28. (C) 9@, 8wl T T urer SFaR
&, wafe 51 va udh ¥
29. famw e et 7 ¥ T Ty we Ffeg
qH § HHE &, Belih U fdded o7
M & T8 T8 T =9 0% @ 9
N, Sl I W e ¥

Out of the given options, three are similar

in a certain manner. However, one option
is NOT like the other three. Select the
option which is different from the rest.

(A) 216 (B) 729
(C) 1331 (D) 324
[UPSSSC T pf Ieures el uReg
(wgEa G ) (9 Tl ), 30-5-2019]
29. (D) (6)F—>1216
(9) - 729
(11 — 1331
2l
(18)? —» 324

T AT O FE &, widfd 324

T 9 HET ¥ | 324 S99 e & |

30. f3w T ot # & I fowed v Fiftad

The o WA T | Bdle, U famey a1

A @ d¥E FE B 1 99 Reey @ g
B, Sl S W e

Out of the given options, three are similar

in a certain manner. However, one option
is NOT like the other three. Select the
option which is different from the rest.

(A) FGH (B) ABC
(C) CEG (D) UVW
[UPSSSC =g fY seura w1 ufiwg

(wga wa ) (fardrr me), 30-5-2019]
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30.

31.

31.

32

32.

33.

@ F—1.*,nu
ALBLC
U v w

C+—2>E+—2>G

3T: fompen (C) 39 2T ¥
fag v fddped # ¥ 99 ooy v Mg
TS W TEE ¥ | B, UE foded amy
W & T T E| 99 Twe @ 95
B, Gl H W AT B |

Out of the given options, three are similar

ina certain marmer. However, one option
is NOT like the other three. Select the
option which is different from the rest.

(A) TRl Mars

(B) 'Q?:RW/ Uranus

{C) Eﬁ'ﬂﬁf Jupiter

(D) F%A Moon

[UPSSSC =rwa HfY Seare= w3t ulvag

(wge wa ) (f&dw uret), 30-5-2019]

(D) a1 A ¥ ¥, F9fF a1 SuuE
¥ | & faey (D) sad 8rer &1

v 7 faepett & ¥ 99 feen ve Fftes

G i 1 0 A R 1 e o e Bt

A9 @ e Ja & 99 fowey & 9w

B, S 3 4 S E

Out of the given options, three are similar
in a certain manner. However, one option
is NOT like the other three. Select the
option which is different from the rest.

(A) 209 (B) 231
(Cy 247 (D) 253
[UPsssSC Twa $iY Ieare W) uRug
(wgaw want) (fa<da et ), 30-5-2019)
(B) a1l a9 Here 3 9 fwrfora =8l
¥, wiafs 231, 3 9 Ry E
3 231 T i ¥
- far T 9r fiwed d @ foww &
TEM He—

From the below four options, identify
the odd one.

(A) Te1/Rhinoceros

(B) ¥R/Lion

{C) 919/ Tiger

(D) #fgzr/wWolf
[UPsSSC ™ faamT sttt (W=
=3 ) o8e (9UH Tel ), 23-12-2018)
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33.

3.

3.

33.

35.

36.

36.

(A) Tre1 S S7eT &, il eS|
ad #

A few g A A | fave B geEr—

From the below names, identify the odd

one out.

(A) fm Fde/Jim Corbett

(B) Yorgmi/Ranthambore

{C) IT997&/ Bandhavgarh

(D) a1/ Tungabhadra

[UPsssC am foom siferpr) (AmT=

=4 ) The (9UW rell), 23-12-2018)

(D) for wide, JmmemiiR qen @it
Y &1 S ISl SHH STl B

A few g A A | fave B geEr—

HDFC, ICICL IDBI, SEBI, PNB, BOB,

BOIL UCO, HSBC

Identify the odd one from the below list
of names.

HDFC, ICICL IDEI, SEEI, PNB, BOB,
BOIL UCO, HSBC

{(A) IDBI (B) SEBI

(C) UCO (D) HSBC

[UPsssC M R iftrprd (AT

T ) TS (WAW UTell ), 23-12-2018

(B) SEBI S &fel &, #4ifh 98 u&
e ¥, VARF g w4 S &
M £l

=y faw e = e 9w @ aetEa

T e § A, 99 W F WA K,

O A & 39 g B w SR o

Al B—

TIRTYY, FSAHA, B, FIHATR,

HEFEHH, TRRT

The below names are related by certain

logic. From the options, select the one

that can be made a part of this group of’
natmes.

Tarapur, Kudankulam, Kaiga, Kakrapar,
Kalpakkam, Narora

{A) BT/ Koyna

(B) YgdArel/ Rawatbhata

(C) SFT% /Ukai

(D) ATEST A1Te/Bhakra Nangal
[UPssSC amm fawra aiferrl (amT=
=) e (W UTel), 23-12-2018]
(B) TNIIY, HETHer, I, SR,

L=}

TR, TN T TGTATST FA
YT ol &

37.

37.

38.

38,

39.

39.

40.

feretferfias A 4 fawm =1 =97 H9 |
Select the odd one out of the following.
(A) @&t/ Iron

(B) Td1/Copper

(C) 391/ Steel

(D) vegfdf~aw/ Aluminium

[UPSSSC um famra st (W
= ) wRiEn (f&<m umet), 23-12-2018]

(C) =i, dfar qen wegfates g g,
S s fHeg &1 oW e
O =1 2

Trefefiaa o & 9w =9 = =

Select the odd name out of the following.

(A) TR =R/ Tony Blair

(B) %oiol URhel /Blaise Pascal

(C) 9 gFTd =g/ Sir Isaac Newton

(D) S TRHie et/ James Prescott Joule

[UPSSSC 7 fomra iiSer) (wmm=a

=g ) wien (faira uredt), 23-12-2018]

(A) I TR, R SEHF e el
IR IEHIC S[E Gl deihe g,
S S SN SEE S7erT 1

T 25 < FIT W] [AEliEd wE

¥ e T8 E

Select the word that does NOT belong in

the tollowing group.

I, I, AN, FAFA, BIEM,

Baroda, Chennai, Bombay, Calcutta,
Cochin, Pondicherry, Kanpur, Poona,

Calicut

(A) T2 /Chennai

(B) ®A=/Cochin

(C) @rY</Kanpur

(D) AT/ Poona

[UPsssC I fdera iermrd (W=

=g ) weien (fa<ira urel), 23-12-2018)

(A) T T TR F A E, AR T
god ISgEl ¥ gafiy 9g gu

e B

40. T8 9 =7 e -

Pick the odd one out:

(A)uaico (Bycgkos

(Cyeimqu Dyhlptx

[UPSSSC um famra st (W

= ) wRiEn (f&<m umet), 22-12-2018]

(A) e (A) F = T 9T e =)
¥l o faeed (A) |l @ fiyrs 21

41. fosm fereg g

Pick the odd one out:



{A) 99/Spring
(B) TSI/ Autumn
(C) BaeR/Windy
(D) THT/Summer
[UPsssC um fdara siftrerd (am=
=8 ) T¥ie (=i rett ), 22-12-2018]
4. (C) ST, gdsTe d21 T W1 F#gl ©,
P TERR g9 e
42, 99 IR g E GH Sl o O g
3T E—
Select the pair of words in which the words
are dilTerently related than the other three
pairs.
{A) &9 : F=d/Long : High
{B) 9 =41/ Cruel : Kind
(C) ied L HeTH/ Hard : Soft
{D) Te@l : TRI/Light : Heavy
[UPSSSC faams waA a9% @ o e
e ("erd urell), 2-12-2018]
42, (A) a1l i1 Fe—gH A, e Ub—gHY
o foel &, e e (A) H S0
= TH- TAY & T B |
31d: fahe (A) 99 STelT ¢ |
43, Toe = g 91 & =9 IE 9 eEw
Z
Select the option that is different from
the other three.
{Ay CDEFG {B) MNOPQ
(C) GHUK (D) RSTUV
[UPSSSC faams waA a9% @ o e
e (e arell ), 2-12-2013)
43, (D) 9P 99 § WY N WE W,
TEiF AT (D) H =R 4Y wm
UX B 81 fddey (1) #Her B
44. I PH F AT BN G 99 OF 9
it 21

Select the number pair that is different

from the remaining three.
(A) 11 :120 {B) 13 :168
(C) 15 : 256 (D) 18 : 323

[UPSSSC faams waA a9% @ o e
e (e arell ), 2-12-2013)
44.(Cy (112 =121, 1211 =120
(132 = 169, 169-1 = 168
(15)2 = 225,225 +1 =226 = 256
(18)2 = 324, 3241 =323
3: fipeg (C) T B
45, FHE FUT TN Wl A= i fobedi |
STETT B—

Select the one which is dilTerent irom the
other three aptions.

(A) FAT — gE/Tailor : Needle

(B) org® — T&amE/Author : Book

()98 — U'T-ﬁ?r\’/Carpcntcr : Furniture

(D) 94T — Gﬁ/(ﬁobblcr : Shoes

[UPsssC faum wam & @ TReETS
uder (fg<a urer ), 2-12-2018]

45. (A) TS99 TER o g, g o &,

foeran 21 9T yaR, Sl Sue
Treran 1
31a: fEed (A) o1 ¥
46, Preafefan wemet @ S e
I A E?
Which pair of numbers is the odd one ?

@ 35,125 ) 4,32
© 3,27 @ 2,8
(A) a (B) b
© ¢ (D) d

[UpsssC faera oa afre (A= a9+

Tt ORI (e Uil ), 16-9-2018)
46. (B) 5% —>125,

4 > [64] #32,
3 —>27,
2’8
3 fagrea § Ueel |1 F O
Gl w7, Weid (4% = 32)
e BN | @ fadew (B) 37 |
=1 &1
47. TfeRag dwmell & Bm—wr Sier
s firr g ?
Which pair of numbers is the odd one ?

@ 1,2 () 5,24
© 7,50 (d 6,35
{A) a (B) ¢
)b () d

[UpPsssC farama g sfterdl (wrm=a @a=

Wil IRAeTT (U Tl ), 16-9-2018|
47. (B) 1+2=3
5+24=129
7+50=>57
6+35=41
e o e L e e
T ¥ WAl B, WiEfe ¢ §
o T we=elt & g @ A
TF Aod T B |
48. 39 yeA ¥ 3 1w fAewed # 9 @
Tpey Ifbs v ¢ Frafed &1 99
IE @ gAY, T e T

In this question four words have been
given out of which three are alike in
some manner and fourth one is differ-

ent. Choose out the odd one :
(A) 3™ FUA™/ Acharya Kriplani
(B) =f wgrpwH/Dr. Radha Krishnan
(C) .97, ¥99/C.V. Raman
(D) < MeTarT/Rajagopalachari
[UPssSC T faem srfSresrdy it udie,
5-6-2016]
48. (A) ST FIA TH T A
3T | w1 g B
49, Fr1ierfies I § 9 99 ww il
TP W TF I ¢ IR TE HE F
A E |3 W UD 98 Bl &, Al
I HHE ¥ ey A8 Ed § 7
(A) 143 (B) 247
(C) 91 (D) 215
[UPSSSC w=erumey { ameferias ) wal
TET, 3-4-2016]
143=13 x 11
247=13 % 19
91 =13 %7
215=43 x5
e o 215, 139 9oy 8 B,
wWafd 99 &= 13 ¥ " g
T 215 91 ¥E A A& S 2 |
50. &9 G § fir T - R Y
(A) e (Aferenm)
(B) ¥ (A=)
(C) =TedT
(D) 9|
[UPSSSC =ramw ( segfarfies ) il
AT, 26-7-2015]
50. (D) AEAT, AR T2 A A §F &
fem o Wiegm E, wafE 98h
TF THR @ Hicedn &, fo9 A1eH
H 5T 9 e #1
51. 3 o | T Tes - R P
(A) TR (ST)
(B) aiftra=hl (Vsdide)
(Cy ~angardl (rert)
(D) debler
[UPSSSC w=erumey { ameferias ) wal
e, 26-7-2015]

49. (D)

UPSSSC AR U4 PET UICThHIIAN | 401



51. () ~TmEETer 399 1 %, wafes =
T TRE o, Aff[er Tem
gl wafdd ® = fRa |
T e £ |

52. o A 9 P weR AR B 7

(A) Ry (B) sreameel

(¢ fafms (D) & (3rmE)

[UPSSSC RIS (Smeferfies) il
e, 26-7-2015]

52. (D) & (S1Im) 590 Wig < S1er &,
i fEe =afee | THE dear
¥ wafeag &, w&fE qife SE
vieg wfafyy, v e ffwm
TN forfaa Wi § v we
el = B

53. = # s/ @ gfe—

Find the odd one :
{Ay ¥) :Hig/Lion : Den
(B) T8 : Eien/Bird ; Nest
(C) Toreel - =G/ Cat 1 Mew
(D) WgATEl : Bal/Bee : Hive
[UPSSSC wfe wermas (SR sfrec)
Wl gdie, 2017, 31-5-2019|
53. (C) 1 AN e1eT¥ T | Wi qen S
EEIGESIER UK A AR A G E e
(C) 7 SIFEY a2 SH@] STENT Hr
7 famn T E
54. T G S I Sl 57 A | e
3
131,137, 139, 142
(A) 131 (B) 137
(Cy 139 (D) 142
[UPsssC & wegr@s (SER sifirede)
APl W1 TIET, 2017, 19-2-2019|
54. (D) 142 1 Brga 957 74979 92 fws
W ¥, wdies 142 HIod gl 6y

WY
55. TEIEE ST BT S &g S & T g —
(A) & (B) TRATO
(C) =®gan (D) Ha®

[UPSSSC wfe wermas (SR sfrec)
Yl Wl TaT, 2017, 19-2-2019|
55. (A) FRHTE, TG dAT FTF Al
IHIEY & T97 30 S 9Tl o B,
Weleh ge1 TodrEl o & | & gel

T T E
56. fay W fowedi & § faww wem @

gfw

402 | AGRAWAL =XAMCART

Select the odd word (rom the given
alternatives:
(A) &/ Night Blindness
(B) A/ Scurvy
(Cy TO-T0/Beriber
(D) wsx1/AIDS
[UPSSSC 18R II *&if 9eier, 2017
15-7-2018|
56. (D) TaT W fomedi & <idy, w7
qorm sRI-9X7 faeria &1 #4419
BiEguc | CIRe
57. fe v fawedi 4 ¥ favd W @
EUE
Choose the odd word from the given
alternatives
(A) ST/ Violet
(B) ~1r@l/Blue
(C) M A/ Indigo
(D) \we/While
[UPSSSC ISR 11 371 99iam, 2017
15-7-2018|

51. (@ [V][1]B]Gc Y OR
T (Violet) e (Blue) ar
TERT el (Indigo) THT e
H T E | S T8 T B
58, fadr v fowedi 7 W fAvw v @
G
Find out the odd number from the
given alternatives :
(A) 125 (B) 512
) 1321 (D) 1728
[UPSSSC @iieR 11 =it a9ig, 2017
15-7-2018]
58. (C) 1321 & BrEHY 9 O =7
weE ¥ |
125=(57
512 =(8)°
1728 = (125°
59, AR e 1 | fAv = T |
Choose the odd word from the follow-
ing options :
{A) 3T%s/Guava
(B) ¥/ Litchi
(C) T/ Papaya
(D) e/ Watermelon
[UPSSSC =11 THasrs 9dem, 3-7-2016]

59. (D) TRYT $H T 7 AT B, Tk

A5 A I Wl Tsl W

Al Bl B, Wdid Srehl A we

g &l Sferdl U TR 9rel Wet £

60. /1 & TF UF WA ¢ 3T SHieY Tem

TIE T & B A o few

7

Three of the following are alike and so

form a group. Which is the one that does
not belong to that group ?

(A) Tet/Pali (B) ¥ent/Sharki
(C) redPablo (D) A¢/Norte
[UPSSSC 18R TN =il U_1eT, 26-6-2016)
60. (C) Weal T EF ¥, e urer
wifrer # 9= =1 9 26T B, SHiE
T T el | T 2
61, T IS ST &, SHE! UEEH By —
(A) IHRT : SmIRal
(B) wI¥ar : |
) ¥ : 29
(D) T Y
[UPSSSC wfe wermas (SR slmwce)
AT RIS, 24-4-2016]
61.(B) fdwed (B) ®1 Bea s 99
TH-THR & EW TR €, SAfE
e (B) H @ W 94 =
TH-gEY F T wrex ¥
62. T=ilhg # | eV—wr 9w wew i
27
(A) BN &
(B) TEST AT
(C) W T
(D) A=F—vaH e
[UPSSSC s/ 11 ¥l T¥iam, 2015
6-3-2016]
62. (D) STEM-Y&M & = & @9
A & e &, stafn
T Pae T H T E
3T e (D) THH o1 E |
63 FARMeT F - o =T § 7

Which one of the following is the odd
one ?

(A) 919/ Babar

(B) ¥~ee Shershah
() ‘ngT“i/ Humayun
(D) TR Akbar

[UPSSSC vy Soiifeax/aaa

e, 27-12-2015]



63. (B) 9N & T3 gAY 91 §AR
Yol febai¥ AT | 8id: U ST b &
%l

o4. Frferfaa & 9 - vF e/ 9

= &, aargd—

Find out which one of the following is
different from the rest ?

(A) Feelf Owl (B) T Parrot
(C) 4wt/ Eagle {D) 9/ Hawk
[UPSSSC SR Solifraz/aaTra! il

T, 27-12-2015)

64. (B) Sz, W qA A A WA
Argl o e 9l E,
W TIT $EH dhacl IMHENT
il ¥ a7a: den g e &
65. Fr=1 % & fawm @ & 7
Select the odd one outin the following:
(A) Tel Frying
(B) §&FV Drying
(C) FIPTE 1 Sweeping
(D) IFV Crying
[UPSSSC SR Solifraz/aaTra! il

T, 27-12-2015)

65. (D) T, @M T FHE HLT A
A By B e @ wrfug #,
STefE T U TR B | A T8
=4 fouH 2|
66. SIS T B 4 |
Choose the odd one out.
(A DKUZ (B) LPuB
(C) FoMY (D) UXeW
[UPSSSC SR Sl /aaTa Wil
e, 27-12-2015)
66. (D) faweq (D) s e &, w4ifd
THH B WX e T2 U %, wWafe
e T H 9 T W B
67. FrTforfa @ fA@edi 4 o9 &
A E 991 ve = B e
T G FEI—

(A) IR (B) ma
(3= (D) AR
[UPSSSC uf¥aTeres (weaey) Wl Tde,
23-8-2015]

67. (D) W7, ¥ 1 Twgl & | gaferT
R g e %, el 9
QA1 st —atert 391 &

68. <y 3y v Ay 1 9§ 99 fawn w=m
1 g, S AT A fawed & g
=& -

{(A) & (B) oerd
() =& (D)=9
[UpPsssC uRaEma® (weae) vl ulda,
23-8-2015]

68.(D) 99 TH WE A oM &, i
s, goTd T e 99 a9 @
Tof &, forTey feras 99 ol B
69. FFldfad el & - HYE
I TR F gl T8 E—
(A) KIMP (B) HEIL
(C) FCGI (D) DAEH
[UPsssSC wfrs wems (S sfine)
Wl adiem, 31-5-2015)
69. (A)

D_=2.,A_+#  E_+#  H
& KIMP 39+ s &1
70. 9 faper & 9 fom FE-w & 7
(A) &300# (B) &200#
(C) &4004 (D) &100#
B yeE gferd qenm oid arey,
BTN ° YA (3TN )
20 fea=, 2020 (WM Uil )
70. (D) fa®dew (D) = Bed o 94
foepert 3 1 7l & AR #9e1 TH
TN e & e | Tl fAee
(D) 99w &, T &< # e
TP &7 B B FEAT (00) Tl
71. @ fawear # ¥ v P g ?
(A) A#M (B) L#P
(C) U#Y (D) #KIJ
TR U9 Yoy qe o 1Sy,
PR 9 YSAR (3RE)
20 fEwaR, 2020 (99w Uret)
71. (D) fa®eu (D) ¥ BlgH a9 941
et 7 1 18I & 7E UF WP
¥l wafe fwey (D) # udie Qi
a7 % el e F
72. yET fawmadl § ¥ P fawer faw My
Ye—(67, 71, 59,97, 89) & dwdi Wil ur
®T ATAT TE B P

72.

73.

73.

74.

74.

75.

75.

76.

(A) 47 (B) 43

(Cy 37 (D) 39
TR URYT i TE o are,
THRA 9 YSHAR (3Ref)

20 few=aR, 2020 (w2 drel)
(D) Ta=m T deme’ & 9 AWy
seard €147, 43 @ 37 dHf
I T ¥, W 39 T Ao
RiEcald
U § T @ $MUR 1), {3y U 9w
fawmadt # 9 99 UF O £ 5 e
B gu—
(A) TUF (B) YZA
(C) WVI (D) OPK
FoR T I qde o 9rey,
BRRIA 9 gSuar (1)
20 fewm=, 2020 (92 dretr)

T U F
()] |_4\|__4~
+1 1a.quf

Y Z A
L_AL_ 4
+1 fa.aoi

|G K WOV oJ
+1 fg. a0t +1  +12

a1 e (C) fi T &1
IR fadedt § W fauq $H-47 87
(A) 18%l (B) 45%3
(C) K%61 (D) 52%7
FoR T I qde o 9rey,
BRRIA 9 gSuar (1)
20 femraz, 2020 {fa<ih urelt)
(C) fweT (O) & BeEY &= |/
fapedt § T o T ¥ R
famed (C) g9 i &1
IR fwea 5 9§ R Fre &7
(A) A%l (B) N%3
(C) P%6 (D) %K2
FoR T I qde o 9rey,
BIRRHA 9 YSUAR (STE)
20 fag=aR, 2020 { fa<im gr=)
(D) e (D) ® BIS®&T &= |/
Taoear § WiE (%) 787 F |
a1 fAea (D) 399 =1 &1
fow a8 ¥ g8 WTad $l Q1 -
ST AgEAd W aied fRa T Wand B
(1762, 3495, 6217, 1276, 3945, 9453)7

(A) (1762,3945,1276) 3l (3495, 6217,
9453)

UPSSSC SreAaR U3 PET UICThHTIAR | 403



(B) (3495,6217,1276) 3% (1762, 3945,
9453)

(C) (1762,6217,1276) 4R (3495, 3945,
9453)

(D) (1762, 6217,9453) &l (3495, 3945,
1276)

TR waE Yo adien 9 ATy,

BIRINH T YSHAR (3TeEl)

20 feawar, 2020 (&< ureln)

76. (C) Hg=T (1762, 6217, 1276) % WF

3% IWHA B

T (3495, 3945, 9453) 7 A
& T

T ey () FE B

77. 99 Rwew &1 g9+ g, = fae e

IR faheut # & fowm &
(A) AZ (B) HS
(C) EU (D) KP
TR waE Yo adien 9 ATy,
BIRINH T YSHAR (3TeEl)
20 framax, 2020 (fe<ia ren)

77.(C) Ae—m> 7

forerrer =t
He———=5

404 | AGRAWAL =XAMCART

foria =
K€—>P

Al

g fERwat g
—

E &l faudid @ V a1 & 9 &

U | a@: faseg (C) 58 i &

78. fow T IR fadedi ¥ @ 99 wAE ¥

78.

79.

fawm fmed &7 ueam S |
(A) SEVENG (B) TWO4
(C) FOUR3 (D) ELEVEN7
TR 2l Yferd ulien wid arey,
B 9 YSHaR (STee!)
20 fewraR, 2020 (&< 9rell)
(C) SEVENG —» (@781 o | + 1)

=(3+1)=6
TWO4 S (B+1)=4
ELEVEN7— (6 + 1)=7
elfepst

FOUR3 — (4—1)=3
I feew (C) 39 1 &1

TE T (23, 12, 48) fEEm W %
Fferfiaa d9 ool 3 dodf @ Urha
o v dE % T & qUEEE @ P
B 9 9 Ffaw

(A) (46,24, 48)  (B) (36, 48, 69)
(C) (46,28,27) (D) (69,12, 16)

TR U] I qde o 9re,
BRI 9 YSUAR (STTE)
20 fwwa=, 2020 (i< re)

79. (C) fameq (A) ¥,

23x2 =46, 12x2 =24 ; 48x] = 48
faee (B) ¥,

12x3 = 36; 48x1 = 48; 23x3 =69
ey (D) ¥,

23x3=69; 12x1 = 12; 16x3 =48
2 feed (C) ¥ 7l % Jowhel
f&d 1 e & ddi & quHh @l
oS A ¥ e fiwen (©) T
it %1

80. S¥ IR BT G Pl Sl FE &b dTehl

eal § Hel e e |
(A) Ty (B) g1
(C) TR (D) 7 (&FHTErT)
UPSSSC (PET) fa&<irg 9o,
24-08-2021

80. (C) IRAR T BrEFN I T A

giffer et H vad &1 e fdoey
(C) a1 ot & o &1
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